CTET L1 ENGLISH L2 HINDI P1

Topic:- CDP_P1_S1_CTET
1) Which period marks the transition from childhood to adulthood ?

(1) Early childhood

(2) Middle childhood

(3) Preoperational period
(4) Adolescence

FITT T ATEHAT F TATTFTA FT THT FA-A7 ¢ 2

(1) wTEfsr= Srearasar
(2) wTeAta FTeATEear
(3) TH-H TS FaeT
(4) FrereTaeT

[Question ID = 1][Question Description = CTET_P1_PART_1_CDP_SET_124_Q1]
1. 1 [Option ID = 1]
2. 2 [Option ID = 2]
3. 3 [Option ID = 3]
4. 4 [Option ID = 4]

2) Which of the following would require use of gross motor skills ?
(1) Painting on a paper using brush
(2) Cutting and pasting bits of paper
(3) Threading the needle
(4) Walking and running

o & & frmer form =oqor e Fherer F IO 7 ArEeaEar 2 2
(1) 3 & 97 97 G F7AT
(2) T97 F T Frear @ How
(3) % H ST ST
(4) FT ST AT
[Question ID = 2][Question Description = CTET_P1_PART_1_CDP_SET_124_Q2]
1. 1 [Option ID = 5]
2. 2 [Option ID = 6]

3. 3 [Option ID = 7]
4. 4 [Option ID = 8]
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3) The first primary agent of socialization is
(1) family
(2) school
(3) friends
(4) media

HATHTS 70 1 740 94T ¢
(1) af=™

(2) ==
(3) 3+
(4) Hifzar

[Question ID = 3][Question Description = CTET_P1_PART_1_CDP_SET_124_Q3]
1. 1 [Option ID = 9]

2. 2 [Option ID = 10]

3. 3 [Option ID = 11]

4. 4 [Option ID = 12]

4) The belief that physical objects such as dolls, cars, etc have life-like qualities is called -
(1) animistic thinking
(2) hierarchical thinking
(3) centration
(4) categorization

T, T i sl et 8 yfR, e ey T A 2
(1) Str=aTET #7r =

(2) TETF AT A=

(3) FerFTT

(4) FefT=Hor

[Question ID = 4][Question Description = CTET_P1_PART_1_CDP_SET_124_Q4]
1. 1 [Option ID = 13]
2. 2 [Option ID = 14]
3. 3 [Option ID = 15]
4. 4 [Option ID = 16]
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5) Assertion (A):
Four-year-old Riya cannot take into consideration the height and width of the two beakers at
the same time while pouring the same amount of water into tall and wide beakers.
Reason (R) :
Riya is at Preoperational stage of cognitive development as per Jean Piaget.
Choose the correct option.
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.
(4) Both (A) and (R) are false.

w7 (A) :

=17 Adtr oy = 7 912 37 999 § 0F 2 89T F A9 A1 H TAT ST
THT FAAT AT 9 T SER fr v N aua F erm F AEf vw a2
FTET(R) -

St framer & s o semarens Fe F mEatrares T H §
T For o

(1) (A) 7 (R) =TT 7ET € 417 (R), (A) FT #0247 F7a7 2 |

(2) (A) &7 (R) 31T &Y @156 (R), (A) F7 70 =1 721 ¢ |

(3) (A) 7T & T (R) 17 € |

(4) (A) ST (R) =TT A € |

[Qut[estion ID = 5:]|[Question Description = CTET_P1_PART_1_CDP_SET_124_Q5]
2. 2 [Option ID = 18]

3. 3 [Option ID = 19]
4. 4 [Option ID = 20]

6) Giving cues and offering support to children as and when required is an example of

(1) Scaffolding

(2) Reinforcement
(3) Conditioning

(4) Cognitive conflict

Tl 7 FF TLH1 10T F=A1 Bl To7d T2d 77 722 FH7qT FTHT I8 8 2
(1) 9t

(2) T

(3) wgeraT

(4) FAHTHT 32

[Question ID = 6][Question Description = CTET_P1_PART_1_CDP_SET_124_Q6]
1. 1 [Option ID = 21]
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2. 2 [Option ID = 22]
3. 3 [Option ID = 23]
4. 4 [Option ID = 24]

7) The application of Vygotsky's theory to children’s education proposes
(1) collaborative learning
(2) operant learning
(3) rote learning

(4) passive learning

Fg1 At fore & form At F Mg 1 G s AT #7471 8
(1) TET R ATETH
(2) g srfes
(3) = wfemm
(4) FAfewT srfaem
[Question ID = 7][Question Description = CTET_P1_PART_1_CDP_SET_124_Q7]
1. 1 [Option ID = 25]
2. 2 [Option ID = 26]

3. 3 [Option ID = 27]
4. 4 [Option ID = 28]

8) In Kohlberg's of moral development the individual strives to maintain the
expectations of others rather than focus on the consequences of one’s actions.

(1) Precperational level
(2) Pre-conventional level
(3) Conventional level

(4) Post-conventional level

Frgaas F ataw FFm F G 9o & =t aun =Egr F oo F e
A T ATATATT FTH FAT & ?
(1) TF-ATaTS 7
(2) TE-TTIERTE FI
(3) IR 0T
(4) T T
[Question ID = 8][Question Description = CTET_P1_PART_1_CDP_SET_124_Q8]
S

3. 3 [Option ID = 31]
4. 4 [Option ID = 32]
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9) A progressive classroom is

(1) Examination-centric
(2) Textbook-centric
(3) Teacher-centric

(4) Learner-centric

(1) Trar-Fisa gt g

(2) T T AT Al §

(3) Fre=-Ffea gt

(4) Pamfi-Ffaardr 2
[Question ID = 9][Question Description = CTET_P1_PART_1_CDP_SET_124_Q9]
1. 1 [Option ID = 33]
2. 2 [Option ID = 34]

3. 3 [Option ID = 35]
4. 4 [Option ID = 36]

10) Renu is a counsellor at a school. Which intelligence should she have to be an effective
counsellor as per Howard Gardner's theory ?

(1) Linguistic

(2) Spatial

(3) Interpersonal
(4) Intrapersonal

v UF fAEmea § weeeiEET g ) gEE a7 & Agra &S aqrEr
UITHAETAT F ®9 § I9F 99 FE-AT gl gET AMET 2

(1) |maTE
(2) =arfaT

(3) TITEATE (FAAATT)

(4) FT-AqTFF
[Question ID = 10][Question Description = CTET_P1_PART_1_CDP_SET_124_Q10]
1. 1 [Option ID = 37]
2. 2 [Option ID = 38]

3. 3 [Option ID = 39]
4. 4 [Option ID = 40]

11) According to NEP 2020, which language should a teacher use for interacting with primary
school children during the teaching-learning process ?
(1) Only the regional language
(2) Only Hindi language
(3) Only English language
(4) Mother tongue of the children
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T forar it 2020 F aam, v o #r Porm-aftem g F 3w
WTEHAT TFe & T=a1 o gy F form fre aror &1 939w e =Jew 2
EEEEEIRE IELED

(2) Fae 24T ATaT 7

() FAeT SIS FTHT FT

(4) F==T1 FF 7T FTAT FT

[Question ID = 11][Question Description = CTET_P1_PART_1_CDP_SET_124_Q11]
1. 1 [Option ID = 41]
2. 2 [Option ID = 42]
3. 3 [Option ID = 43]
4. 4 [Option ID = 44]

12) Five-year-old Vaishali told her mother. "Mother, | want a football like Amit." Responding to
Vaishali, her mother said, "Only boys play with football, | will bring a small cute doll for you.”
The mother's response illustrates

(1) Gender Role Flexibility
(2) Gender Equity

(3) Gender Stereotyping
(4) Gender Relevance

Tt AT #Y Forreft F FueAr 7 F F2T | 9, qH @ff7 ;¥ g7 A T )
FATAT T FATT A g0 IAAT AT 7 Fgl, "[EATA T AT FA4 AEH A @, B
Feere form vw gt # = qifgar @t 1" |/t #7 w=@e w=;y fEmr g 2
(1) == =T § A= o
(2) T FraT
(3) e =fzazar
(4) Fof graEfRrFaT
[Question ID = 12][Question Description = CTET_P1_PART_1_CDP_SET_124_Q12]
1. 1 [Option ID = 45]
2. 2 [Option ID = 46]

3. 3 [Option ID = 47]
4. 4 [Option ID = 48]

13) Labelling of children and placing them in categories

(1) enhances and facilitates meaningful leaming.
(2) creates a sense of helplessness and inferiority amongst a group of children.
(3) is a positive strategy to manage the leaming needs of all children.

(4) does not have any impact on the self-esteem and performance of children.
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F=AT FT ATHIFOO T Trg AV | FteAT

(1) ST Hg T FETAT I3 F FATIET F 4T |

(2) F==1 F A | E19AT ST Frae T TSI A T 5T

(3) 7T F==1 F ATHTH A =TT H LI A & (00 U TR F D1 g |
(4) F=AT F ATH-TETT AT T4 TT Fre T Tgl ST |

[Question ID = 13][Question Description = CTET_P1_PART_1_CDP_SET_124_Q13]
1. 1 [Option ID = 49]
2. 2 [Option ID = 50]
3. 3 [Option ID = 51]
4. 4 [Option ID = 52]

14) Continuous and comprehensive evaluation means

(1) comparing the students with each other

(2) assessment covering all aspects of school activities related to child's overall development
(3) evaluation of child's performance on the basis of scholastic activities only

(4) evaluation of the children at the end of the year to determine promotion to the next class

AT T THY GoATHA F FAT HAT ¢ ?
(1) FE=nta=T it v-gae 7 Faw FeAT

(2) === F == fEwr 7 g gt e TREAtEt F arvaT F et gt
FT AT F7AT

(3) Faer drfers TATATAAT F ST 9% F=A1 % TZAT FT oA THA F7AT

(4) T F AT H F=AT FT GoATHT FIAT IAAT AT FAT H = FT AT
e forT et

[Question ID = 14][Question Description = CTET_P1_PART_1_CDP_SET_124_Q14]
1. 1 [Option ID = 53]
2. 2 [Option ID = 54]
3. 3 [Option ID = 55]
4. 4 [Option ID = 56]

15) Effective teachers often use probing guestions during the course of teaching-learning
processes in the classroom. This would enable the teacher to undertake

(1) Summative assessment

(2) Formative assessment

(3) Standardised assessment

(4) Norm-referenced assessment
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garEt foras Fer & Pram-afam £t gfmar § e o9 F99 91 999t #7
AT F7d & | T foreAw #r Fh a9 T g wed ¥ §ER Her ?

(1) T gearsa

(2) THATHF e AT

(3) WTTHTRA eATHA

(4) ATF-FEraT TeATERA

[Question ID = 15][Question Description = CTET_P1_PART_1_CDP_SET_124_Q15]
1. 1 [Option ID = 57]
2. 2 [Option ID = 58]
3. 3 [Option ID = 59]
4. 4 [Option ID = 60]

16) Role of teacher in an inclusive classroom is to

(1) address and respond to the diverse needs of all children
(2) give attention to some special students ony
(3) identify and segregate children based on their academic abilities

(4) refer special needs children to a specialist and ensure that they are taught in a separate
section

o FHTAAT FAT F FRrferwr F Fm o gwwm g 2

(1) F==t1 it A ST=A7 F7 T97 TAAT T TAFT BATT TGAT
(2) Fae Fg AT A=A AT 97 &A1 397
(3) F=HAT FT I AFTIAF &HAT F HGTT IT TEATAAT T IAHT TAFFT FIAT
(4) ATH F=IAT AT F=A1 H AT & T GAAT T AT F7AT 5 I FerT
HHTT § TEET AT
[Question ID = 16][Question Description = CTET_P1_PART_1_CDP_SET_124_Q16]
1. 1 [Option ID = 61]
2. 2 [Option ID = 62]
3. 3 [Option ID = 63]
4. 4 [Option ID = 64]
17) What should a teacher keep in mind while teaching a diverse group of learners ?
(iy Acknowledge and respect every student
(i) Ignore cultural differences
(i) Maintain consistent communication
(iv) Give indirect instructions
(v) Give students autonomy and flexibility
(1) (i) (i) (iii)
(2) (i) (iii) (iv)
(3) (i) (i) (v)
(4) (iii) (iv) (v)
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fafrg a9z ¥ fF=nfiat & fieor & S ow @fder v =0 am § e
TR 2
(i) 27 FE=mdt S =T 7 T 3497
(i) wriepfaw AThrarst 1 dvaar #r
(iii) F[FEITA FHATOT FATT TEAT
(iv) @ro=ger fger Za7
(v) =t &1 F=E=ar F a9 2497
(1) (i) (i) (i)
(2) (ii) (i) (iv)
(3) (i) (i) (v)
(4) (iii) (iv) (v)

[Question ID = 17][Question Description = CTET_P1_PART_1_CDP_SET_124_Q17]
1. 1 [Option ID = 65]
2. 2 [Option ID = 66]
3. 3 [Option ID = 67]
4. 4 [Option ID = 68]

18) To cater to the specific needs of child with visual disability, the teacher should

(1) focus on a variety of visual presentations

(2) use a variety of tactile manipulative and materials
(3) show a lot of silent films

(4) give a lot of structured worksheets with pictures

o fErEmt (5 gfeatear g, 1 @ st o v foreen i

(1) fafae a7 % 3f9as aegdtm 97 e 347 /1y
(2) FE THTE T FAIAATT 7 ZEAF 197 ATHIAT FT START F7AT T
(3) 3ge =t 7w forest et =iz
(4) Fga =t "= awefte TomE e g 3+ =ige
[Question ID = 18][Question Description = CTET_P1_PART_1_CDP_SET_124_Q18]
1. 1 [Option ID = 69]
2. 2 [Option ID = 70]

3. 3 [Option ID = 71]
4. 4 [Option ID = 72]

19) Difficulties in social interaction and verbal communication is a typical characteristics of
(1) Autism
(2) Attention Deficit Hyperactivity Disorder
(3) Dyslexia
(4) Dyscalculia
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AraTrorE S s w#ifes Fia § AT G fAfre afterar g 2

(1) Fefiar

(2) ST FAAT A AT FE
(3) THAATET

(4) TS AEEA

[Question ID = 19][Question Description = CTET_P1_PART_1_CDP_SET_124_Q19]
1. 1 [Option ID = 73]
2. 2 [Option ID = 74]
3. 3 [Option ID = 75]
4. 4 [Option ID = 76]

20) The teacher gives clays of different colours to the children and asks them to make whatever
comes to their mind from that clay. Through this, she wants to promote in children.
(1) Creativity
(2) Rote memorisation
(3) Non-cooperation
(4) Indiscipline

forer a==1 =1 e 401 aeft Bt @ T 726 & & o7 w9 § o s
# AF AT | T WA F, Ag T4 F FT AZAT AT ATEAT 2 |

(1) TTATHFAT
(2) 7=AT
(3) FEATT

(4) AR AT

[Question ID = 20][Question Description = CTET_P1_PART_1_CDP_SET_124_Q20]
1. 1 [Option ID = 77]
2. 2 [Option ID = 78]
3. 3 [Option ID = 79]
4. 4 [Option ID = 80]
21) The early primary years of childhood should focus on the development of
(i) physical skills
(i) social skills
{iii) cognitive capabilities
(iv) emotional skills
(v) abstract reasoning

(1) (1) (i)

(2) (i) (iii)

(3) (i (i) (iii) (iv)
(4) (1) i) (iii) (iv) (v)
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T % TS Al § B e a7 ene wfea Far =iEn 2
(i) o e
(i) FTETE Frae
(iii) FSTATHF AHAT
(iv) HATMTHT T
(v) T T
(1) (i) (i)
(2) (i) (iii)
(3) (i) (i) (iii) (iv)
(4) (i) (i) (iii) (iv) (v)
1[.Q:J([a;:)it?or:] |||; =821; J[Question Description = CTET_P1_PART_1_CDP_SET_124_Q21]
2. 2 [Option ID = 82]

3. 3 [Option ID = 83]
4. 4 [Option ID = 84]

22) |n a constructivist classroom, meaningful learning
(1) refers to the storage and retrieval of information.
(2) is the process of discovery through exploration and interaction.
(3) occurs through the use of rewards and punishment.
(4) takes place through repeated practice and drill.

THAATATAL FET §, AT Ha=r
(1) STTHFTET % WSO F STATed 9 2rar g |
(2) s=raor 7 ST % g Jre v b g
(3) TATH T {HAT & AR T ZAT 2 |
(4) FATATT TET TAT AT H ZAT 2 |
[Question ID = 22][Question Description = CTET_P1_PART_1_CDP_SET_124_Q22]
1. 1 [Option ID = 85]
2. 2 [Option ID = 86]

3. 3 [Option ID = 87]
4. 4 [Option ID = 88]

23) A teacher begins to works together, by giving cues and prompts, with a student who is unable
to understand a concept. This process is referred to as
(1) scaffolding
(2) teacher-centered pedagogy
(3) maintainance rehearsal
(4) direct instruction
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o FOrferRT v F=AT, ST UF AL F AW § qwwd g, F a7 Hew wy
FAT € IH TUT 34 g | T TIHAT FAT Fgamat g ?

(1)are
(2) foram-aFirza foramom=

(3) ATZEAT AT
=
(4) s fF=er
[Question ID = 23][Question Description = CTET_P1_PART_1_CDP_SET_124_Q23]
1. 1 [Option ID = 89]
2. 2 [Option ID = 90]

3. 3 [Option ID = 91]
4. 4 [Option ID = 92]

24) Assertion (A) :
A teacher tries to include examples from the immediate environment of children to make the
classes interactive.
Reason (R) :
Socio-cultural context plays an important role in leaming.
Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.

(4) Both (A) and (R) are false.

w7 (A) :
v fafemET wur Fr dEETEE g9 F T ==t F amoE F e F
TRETW e F7AT |
7% (R) :
ATHTISTF- AT o 72 6 # T § Fg=ar EFr g |
GEAREEnR el
(1) (A) A7 (R) TT ALY € A7 (R), (A) FT AT =TT F7A1 ¢ |
(2) (A) 7 (R) FT AT 2 @i (R), (A) T 71 =TT 721 2 |
(3) (A) 7&T g e (R) T € |
(4) (A) AT (R) ZTT AT E |
[Qut[estion ID = ZTl[Question Description = CTET_P1_PART_1_CDP_SET_124_Q24]
2. 2 [Option ID = 94]

3. 3 [Option ID = 95]
4. 4 [Option ID = 96]
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25) What will pose as a hindrance to a child in solving a problem ?
(1) Identifying the problem correctly
(2) Defining the problem clearly
(3) Thinking of similar problems that one has solved

(4) Remaining fixed at using objects in a conventional manner

=1 & 7 797 =9 F 99T AHTLTT § "AT9T 5077 FHT ?

(1) F9FT &7 2T 7 TZFTHAT

(2) FHFAT FT FIEAT | G AT FeAT

(3) TE FeATE TE THAAT-SeT ARt F AT F Gr9Ar

(4) TS T TEAATA F OLEAT0H G904 07 (247 TgAT
[Question ID = 25][Question Description = CTET_P1_PART_1_CDP_SET_124_Q25]
1. 1 [Option ID = 97]
2. 2 [Option ID = 98]

3. 3 [Option ID = 99]
4. 4 [Option ID = 100]

26) Assertion (A) :
Mistakes and errors made by the students are indicative of the failure of the teachers and the
students.
Reason (R) :
Children do not have the ability to think on their own and need to be constantly instructed to
ensure learning.
Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.

(4) Both (A) and (R) are false.

HTAFIT (A) :

Frrfiet gy Y w wafaat 7 it rawt 7 Fenfiet f aavaar 71 2or
g

7% (R) :

F=A1 H G2 F ArF9 T A9ar T21 gt 7497 IA% drad w1 giafea w7 5 o
I ATAT FEU I UET £

ool AFeT T4 |

(1) (A) AT (R) =TT AT & A7 (R), (A) T FT =TE=AT F7A1 ¢ |

(2) (A) & (R) 31T AT & @13 (R), (A) FT 721 =TT 721 7 |

(3) (A) 7ET & @l (R) e £ |

(4) (A) & (R) ST e 2 |
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[Question ID = 26][Question Description = CTET_P1_PART_1_CDP_SET_124_Q26]
1. 1 [Option ID = 101]
2. 2 [Option ID = 102]
3. 3 [Option ID = 103]
4. 4 [Option ID = 104]

27) Which of the following is notan emation ?

(1) Memory
(2) Anger
(3) Love

(4) Fear

freforfas & 7 F19-a71 a7 7gf'e 2

(1) ==

(2) rer

(3) =T

(4) 971
[Question ID = 27][Question Description = CTET_P1_PART_1_CDP_SET_124_Q27]
1. 1 [Option ID = 105]
2. 2 [Option ID = 106]

3. 3 [Option ID = 107]
4. 4 [Option ID = 108]

28) What strategies can a teacher use to increase intrinsic motivation in her primary grade
students 7

(1) Praise each and every effort made by every student
(2) Punish undesirable behaviour

(3) Promote competition amongst students

(4) Encourage children to experience joy of learning

grafa forfer au FenfiaT & aaf afisron #1 sz 33 F oo s=r s
qaFAT g ?
(1) 2% fF=mdt 5 g7 uF 9o 7 991 F95
(2) AFATHATT AAETE FT 3160 F9F
(3) A==t & wiwwat #1 azrmET 397
(4) 7==1 T H1a" § A3 A A T TR w
[Question ID = 28][Question Description = CTET_P1_PART_1_CDP_SET_124_Q28]
2. 2 option 0 - 10]

3. 3 [Option ID = 111]
4. 4 [Option ID = 112]
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29) Qwverall physical and mental well-being of the child
(1) does not affect
(2) hinders
(3) is not related to
(4) facilitates

learning.

T=9 T 79T AT T AW ey afiem |
(1) FT waTiAT 51 FAT

() HATAT TTAAT ¢

(3) & #efe 7El §

(4) 3T FATEET F7T §

[Question ID = 29][Question Description = CTET_P1_PART_1_CDP_SET_124_Q29]
1. 1 [Option ID = 113]
2. 2 [Option ID = 114]
3. 3 [Option ID = 115]
4. 4 [Option ID = 116]

30) Ruhi believes that she did not study properly which is why she did not get good marks in her
science test though she can do science quite well. She is attributing her performance to

(1) environmental factors
(2) lack of ability

(3) lack of effort

(4) tough luck

Fel T TWAT ¢ 14 909 308 T Tgre 7at o 47 s #1393 fFsmy &
TEAT F =0 TH7 AR 0 FATh Ag (A F AgT q=gr GIUT FT AHAT ¢ |
FET A TR FT AR T FEE AT ?
(1) Ttaeofer F17s
(2) ATTAT HT FHI
(3) Frfarer £ 7t
(4) FET qrT
[Question ID = 30][Question Description = CTET_P1_PART_1_CDP_SET_124_Q30]
1. 1 [Option ID = 117]
2. 2 [Option ID = 118]

3. 3 [Option ID = 119]
4. 4 [Option ID = 120]

Topic:- MATH_Q31-45_P1_S1_CTET
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1) The difference between the greatest four-digit number and the smallest four-digit number,
when divided by 15, leaves the remainder :

(1) 11
(2)12
(3)13
(4) 14

AT HR A T TR AT TN I AF D AaT Gl TAmT F AT T I 157
T T s, A S g

(1) 11
(2) 12
(3)13
(4) 14

[Question ID = 31][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q31]
1. 1 [Option ID = 121]
2. 2 [Option ID = 122]
3. 3 [Option ID = 123]
4. 4 [Option ID = 124]
2) (11 ones + 10 tens + 12 hundrads - one thousand) is equal to
(1)310
(2)311
(3)312
(4)313

(11 THT2af + 10 TZEAT + 12 §FE — TF gA9) TME7 ¢
(1) 310
(2) 311
(3)312
(4)313
[Question ID = 32][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q32]
1. 1 [Option ID = 125]
2. 2 [Option ID = 126]

3. 3 [Option ID = 127]
4. 4 [Option ID = 128]

3) The difference between the Smallest Common Multiple and the Highest Common Factor of 15,
20and 25 is

(1)115
(2) 140
(3)275
(4) 295
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15, 20 TIT 25 F T4 Fi A4 [0S A7 TI9 92 AT QA€ 71 AT 2

(1) 115
(2) 140
(3)275
(4) 295

[Question ID = 33][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q33]
1. 1 [Option ID = 129]
2. 2 [Option ID = 130]
3. 3 [Option ID = 131]
4. 4 [Option ID = 132]

4) What should be added to the product 201 « 105 to get 21171 2
(1)65
(2) 86
(3)67
(4) 68

TR 201 x 105 7 F47 ST 51, s 21171 9o 27 2
(1)65
(2)66
(3)67
(4)68
[Question ID = 34][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q34]
1. 1 [Option ID = 133]
2. 2 [Option ID = 134]

3. 3 [Option ID = 135]
4. 4 [Option ID = 136]

5) In a school, there are 1260 students, out of which two-third are boys and the rest are girls.
Three-fourth of the number of boys are players and half of the number of girls are also players.
The number of students who are not players in the school
is:

(1) 380
(2)400
(3)420
(4) 450
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rft e 7, 1260 Fr=mdt 2, e 7 2r-fge @2 2 @ a7 @l £
AEFN HY T F A-A1ave et € ofre ot v g F arar ff e 8
| Prerrerr § Frenfiet i den, o fTerdad £ e g
(1) 380
(2) 400
(3)420
(4) 450
[Question ID = 35][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q35]
1. 1 [Option ID = 137]
2. 2 [Option ID = 138]

3. 3 [Option ID = 139]
4. 4 [Option ID = 140]

) How many % are there in % ?
(1)3
(2)6
(3)9
(4)12
g ., ~ S g
—Haa =3
il aa?
(1)3
(2)6
(3)9
(4)12
[Question ID = 36][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q36]
1. 1 [Option ID = 141]
2. 2 [Option ID = 142]

3. 3 [Option ID = 143]
4. 4 [Option ID = 144]

7) Neena bought 3 kg 650 g onions and 1 kg 800 g tomatoes from a vegetable shop. By what
amount does the weight of onions exceed the weight of tomatoes ?
(1)1 kg 150 g
(2)2kg 6309
(3)2kg 150 g
(4)1kg 8309
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FET 7 7F FeA1 it T 7, 3 kg 650 g FATH #T 1 kg 800 g FHET TR |
TS FT W1 ZHT127 & 9 F fremr afdw ¢ 2

(1)1 kg 150 g
(2) 2 kg 650 g
(3)2kg 150 g
(4)1 kg 850 g
[Question ID = 37][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q37]
1. 1 [Option ID = 145]
2. 2 [Option ID = 146]
3. 3 [Option ID = 147]

4. 4 [Option ID = 148]

8) On a map, half centimetre shows 225 km on the ground. If two cities are 1800 km apart on the
ground, then the distance between them on the map is :

(1)3ecm
(2)4 em
(3)6 cm
(4)8 em

TF HIAHT 97 94T FErfET, 9 07 225 km T 390AT £ 1 33 ST F
#1 g 77 277 1800 km g, AT ATH=T 97 374 F19 A1 T :

(1)3 cm

(2)4 cm

(3)6 cm

(4) 8 cm

[Question ID = 38][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q38]
1. 1 [Option ID = 149]
2. 2 [Option ID = 150]

3. 3 [Option ID = 151]
4. 4 [Option ID = 152]

%) The number of minutes in T-,l- days is equal to the number of seconds in

(1) 3 hours
{2}3% hours
(3) 4 hours
(4}4% hours
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7 T3t & e v v e % et 1 dea F aeE g
(1)3 %z
-

{2}3§-Enz

(3)4 HE

{4}4§-Enz

[Question ID = 39][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q39]
1. 1 [Option ID = 153]
2. 2 [Option ID = 154]

3. 3 [Option ID = 155]
4. 4 [Option ID = 156]

10) The number of cubes of side 30 cm which can be fitted in a cubical box with measurements 7-2
m=54m=x=x 1-8mis:
(1)2592
(2)2524
(3) 25086
(4) 2598

30 cm ST AT =1 At ", 5 v wararnre a9, Bed fant 7.2 m o«
54m x 18mg, A7 AT AFd ¢, M= & :

(1) 2592

(2) 2594

(3) 2596

(4) 2598

[Question ID = 40][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q40]
1. 1 [Option ID = 157]
2. 2 [Option ID = 158]
3. 3 [Option ID = 159]
4. 4 [Option ID = 160]

11) The total number of right angles in the English letters 'H and 'E' is
(1)5
(2)6
(3)7
(4)8
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SIAT % AT H 9T E’ F 'R A e {5 g

(1)5

(2)6

(3)7

(4)8

[Question ID = 41][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q41]
1. 1 [Option ID = 161]
2. 2 [Option ID = 162]

3. 3 [Option ID = 163]
4. 4 [Option ID = 164]

12) The perimeter of a square is 120 cm. The length of a rectangle is two times the side of the
square. The perimeter of the rectangle is 156 cm. What is the difference between the areas of
the rectangle and the square ?

(1)80em’

(2) 145 em”
(3) 150 em”
(4)180 em

T A F IR 120 em £ | Bl s f dmrg wm At i qer A et
AT AT T 156 om £ | A T A F Sl § daT #T g ?

(1)90 em”

(2) 145 cm”
(3) 150 cm”
(4) 180 cm”

[Question ID = 42][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q42]
1. 1 [Option ID = 165]
2. 2 [Option ID = 166]
3. 3 [Option ID = 167]
4. 4 [Option ID = 168]

13) The marks obtained by 25 students in a test are given below :
54,68 .42, 71,56, 62 71,78, 51, 72, 53,44, 58 47, 64, 41, 57, 89, 53, 84, 57,45, 48, 52, 62
How many students obtained marks between 55 and 75 7
(1)10
(2)11
(3)12
(4)13
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et ze= ¥, 25 fFA=nfaat gy g 79 Fuar g

54, 68, 42, 71, 56, 62, 71, 78, 51, 72, 53, 44, 58, 47, 64, 41, 57, 89, 53,
84, 57, 45, 48, 52, 62

e A F AT 55 AT 75 F A= A 2 2

(1)10
)11
(3)12
(4)13

[Question ID = 43][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q43]
1. 1 [Option ID = 169]
2. 2 [Option ID = 170]
3. 3 [Option ID = 171]
4. 4 [Option ID = 172]

14) The following table shows the number of books sold by a shopkeeper in 6 days of a week :

Days Sunday | Monday | Tuesday |Wednesday| Thursday Friday

Mumber of 65 40 30 50 20 70
books sold

What is the difference between the total number of books sold by the shopkeeper on Sunday,
Monday and Thursday, and the total number of books sold on Friday and Wednesday ?

(1)5

(2)4

(3)3

(4)8

e arferr v THwET 2T aeae F 6 AT # = v gt fr g A
9T 2

FATAE | 65 40 30 50 20 70
T AT
T

ST eTFATT TAT TUATE HT A= TE [EAT1 51 T GedT § F97 77 £ 2

(1S
(2) 4
(3)3
(4)6

[Question ID = 44][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q44]
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1 [Option ID = 173]
2 [Option ID = 174]
3 [Option ID = 175]
4 [Option ID = 176]

A wpN =

15) Observe the pattern below :
2:1=2
3=2=6
5=3=15
7=4=28
1M125=55
136 =178
17 = 7 = 119
19 = 8 = 152
NN o
Identify the missing numbers respectively in the above pattern.
(1)21 and 188
(2)23 and 207
(3)25 and 225
(4) 29 and 261

e = 1y it
2x1=2

3x2=6

5x3=15

7 x4=28

11 =35 =55

13 x6 = 78

17 = 7 = 119

19 = 8 = 152

ST TEd § oo STt F1 AN TgAErA |
(1) 21 == 189
(2) 23 & 207
(3) 25 3f¥ 225
(4) 29 #7261

[Question ID = 45][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q45]
1. 1 [Option ID = 177]
2. 2 [Option ID = 178]
3. 3 [Option ID = 179]
4. 4 [Option ID = 180]

Topic:- MATH_Q46-60_P1_S1_CTET
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1) For primary grade children an understanding of 'approximation and estimation’ would lead to
the development of which of the following concepts ?

(a) Transitivity
(b) Measurement
(c) Patterns

(d) Caleulations
Choose the correct options :

(1)(a), (c) and (d)
(2) (a), (b) and (c)
(3) (b), (c) and (d)
(4) (a), (b) and (d)

ATATEE AV F F==1 & o AT uA AqET A A At dheare
T & fr deaar F e fr e & sosft 2

(@) FwTHAT

(b) =TT

(c) At

(d) ufe=t
2! [Aom 1 =77 fifwo

(1) (@), (c) & (d)

(2) (a), (b) ¥ (c)

(3) (b), (c) &1 (d)

(4) (a). (b) & (d)
1[.Q:J¢[e;:)itci)or; |I|; 51:?]][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q46]
2. 2 [Option ID = 182]

3. 3 [Option ID = 183]
4. 4 [Option ID = 184]

2) When asked to write five hundred sixty seven a child writes it as 50067. What could be the
most appropriate reason for this error ?

(1) Child is not attentive in the class and is a careless listener.

(2) Child is a careful listener but has not establised the concept of place value.
(3) Child recognizes only two-digit numbers.

(4) Teacher's inability to teach the concept of place value.
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T UF T=4 A1 1A A7 F2AS W forgs & oo g1 4w, 99 399 35 50067
foraT |z A2 F1 TAT0F ITIFET FOT FAT G AFAT € 2

(1) F=37T F&AT H 4717 TEI = 72T g A7 UF @Taearg v g |

(2) F=371 UF T AT £ g s ' demeo Fr e 985 w9
g
L2

(3) T=AT FAT -3 FrEATT TEHAT £ |

(4) =TT T AT ST gRT § forer A AvervT

[Question ID = 47][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q47]
1. 1 [Option ID = 185]
2. 2 [Option ID = 186]
3. 3 [Option ID = 187]
4. 4 [Option ID = 188]

3) Which of the following is an example of cultural specific knowledge that is displayed in early
mathematics learmning by very young children ?

(1) Number words used by the learners
(2) Number operations

(3) Spatial understanding

(4) Solving mathematical puzzels etc.

feforfaa 3 & fiv-ar, g Rt s s e T s e F
i A2 & AgT gre a=At 2T v2foa A sman g 2

(1) AFERTHFHAT ZTT T HEAT 90T
(2) AT wiFAT

(3) FRFeaTe At 7=

(4) wivre e wgferat st g =

[Question ID = 48][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q48]
1. 1 [Option ID = 189]
2. 2 [Option ID = 190]
3. 3 [Option ID = 191]
4. 4 [Option ID = 192]

4) Which one of the following statements is true with respect to mathematics learning ?

(1) Boys are better at learning mathematics as compared to girls
(2) There must be separate classrooms for children with special needs as they cannot learn
with other children

(3) Everybody can learn mathematics
(4) Procedural fluency in mathematics will always lead to conceptual clarity
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e 5 7 F9-97 F97 70 % @ F A F J2g ?

(1) T i o7 § @ Tiorg #vaq § Iga7 g

(2) 9T AFeTFATA AT T=FT F 00T AGIT FATH 2T I FIH T 7T
F=A1 F ATF T2l o1 T 2

(3) Wi =t T Hg AT g

(4) 70T | TR TATE T3 ATLTIOTeHF TT0AT F1 AT o ST

[Question ID = 49][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q49]
1. 1 [Option ID = 193]
2. 2 [Option ID = 194]
3. 3 [Option ID = 195]
4. 4 [Option ID = 196]

5) National Curriculum Framework, 2005 argues for a mathematics curriculum which is
"ambitious”. Which among the following is/are most appropriate to represent this vision ?
(a) Curriculum needs to develop students’ capabilities in numeracy.
(b) Curriculum needs to develop students’ inner resources to think and reason
mathematically.
(c) Curriculum needs to develop students’ ability in solving mathematical puzzles.
Choose the correct option :

(1)(a) and (c)

(2) Only (b)

(3) (b) and (c)

(4) (a) and (b)
T UTEIFAT FYvET, 2005, A0 F aTE=AT A HgATw S g & o
T TET FEAT 2 | TH 312 A 39 & foro AefetEe § F fe-ana =it
I 22 ?

(@) TTEI=AT F1 T ° Grenfiat fv auarat w7 fEer e

AT T |

(b) wrEr=AT F Afvrr Faw va fEss F oo Gt 5 awfis
THATYAT HT FHHTT FTAT AFITF T |
(c) TTEISAT FT AT TZAT T 2 F7 | HA=0A9T AT 77T FT
BT T aEFeEw g |
el fAFeT 1 F77 Ffer
(1) (a) 4= (c)
(2) F (b)
(3) (b) & (c)
(4) (a) & (b)
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[Question ID = 50][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q50]
1. 1 [Option ID = 197]
2. 2 [Option ID = 198]
3. 3 [Option ID = 199]
4. 4 [Option ID = 200]

6) According to National Curriculum Framework 2005, primary stage mathematics curriculum
should least focus on

(1) development of relevant mathematical vocabulary
(2) development of spatial understanding

(3) identification of patterns

(4) use of standard algorithms to solve problems

T AT =ear 2005 F AFET, ITAHF &7 F Ao ISEws A
U7 T FH AiEd gl 910 |

(1) ST IO 9TsaTae | & A

(2) BFeaTe madt 79sr F FEw

(3) wfasT=i/afA=aT F 72319

(4) FTHEEATAT T A F7A & [0 JI9H TAd-1A 041 % STanT
[Question ID = 51][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q51]
1. 1 [Option ID = 201]
2. 2 [Option ID = 202]

3. 3 [Option ID = 203]
4. 4 [Option ID = 204]

7) Which of the following is not an objective of formative assessment ?

(1) To know about child's misconceptions

(2) To assess the child’s understanding in construction of knowledge
(3) To introduce a new concept based on the previous concept

(4) To know if a teaching strategy is appropriate or not

Feaforfas & & Fi9-a7 T=aTeE arFead 71 3297 Age ?
(1) === &t Gifa=ai F 977 §F TW=A7
(2) 517 F foior & 3= 7 79w v At
(3) faraeft Ao 97 AT 7T AT A AT
(4) 7 s £ foverr qfer/f e sopE € A
[Question ID = 52][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q52]
1. 1 [Option ID = 205]
2. 2 [Option ID = 206]

3. 3 [Option ID = 207]
4. 4 [Option ID = 208]
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8) A primary teacher is focusing on the development of mathematical reasoning skills in her
students.
Which of the following tasks may help her in the most appropriate manner ?
(1) Using mathematical games and puzzles in her class
(2) Giving a lot of questions, based on a given formula, to practice
(3) Conducting regular class tests
(4) Solving textbook questions on the blackboard

wrataE Far f vF i aum FrnfEt § afiedter s m/EAEET F foe T
P am T s =g
feeAforfarT & & Fi9-5 F7F ST 7o STE AY0H F AgTAAT B G994 £ 2

(1) ATHT FeaT § TOOATT FISTAT AT Tra |t F:T ITIRT F747
(2) wrerm ¥ fom, f&m o v o9 o7 e ga 9 g9 34T
(3) Ferfae =T TS FT AT FEAT

(4) SATITZ TT TTEITEAS & WAT F1 g F0AT

[Question ID = 53][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q53]
1. 1 [Option ID = 209]
2. 2 [Option ID = 210]
3. 3 [Option ID = 211]
4. 4 [Option ID = 212]
9) Which of the following represents the recommendations of National Education Policy (NEP)
2020, for curriculum and pedagogy in school ?
(a) Learning should be holistic and integrated
(b) Restructuring school curriculum and pedagogy in a new 5+3+3+4 design
(c) Restructuring school curriculum and pedagogy in a new 5+2+3+3 design

(d) Foundational stage should include learming from formal textbooks
Choose the correct option :

(1)(a) and (c)
(2)(a) and (b)
(3) (b) and (d)
(4)(c) and (d)
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feaforfas & & Fra-ar ot £ ms=an 7 fraremes F oo aeder forar Hify
(NEP) 2020 #Y weara=rat #7 A= #7741 § ?
(a) wfET 7wy & U EET AR
(b) 5+3+3+4 F A7 fEwmea H =pw urswH A7 fwroremer w7
T FAT
(c) 5+2+3+3 ¥ AU fevmed ¥ &= urmIHA @7 forermemer F1
(d) TTEEUFT T2 T =Tt e 4 afeery afafos ger
TaT AT 1 == e
(1) (a) 41 (c)
(2) (a) 41 (b)
(3) (b) 1 (d)
(4) (c) & (d)

[Question ID = 54][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q54]
1. 1 [Option ID = 213]
2. 2 [Option ID = 214]
3. 3 [Option ID = 215]
4. 4 [Option ID = 216]

10) A teacher uses manipulatives such as blocks, marbles, etc. for developing the concept of
multiplication. Use of such mainpulatives :

(1) creates confusion among learners

(2) hinders the understanding of the formal algorithms
(3) provides leisure time to young children

(4) helps in conceptual learmning

vF frgw gEAee ATl §9 R sAtE, 5rEe, Tenty & sTEnr o A
FAAEOT T AT A F O Far €1 T g A geAaee a7
R E L

(1) et ¥ EeywFs T Iom a7 2

(2) dra=Ti Fera-fAtaaT 7 79T | AT ST ¢

(3) Fie T==1 AT AT THT AT 2

(4) FFITOEAT ATHTH H TETAF 24T 8

[Question ID = 55][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q55]
1. 1 [Option ID = 217]
2. 2 [Option ID = 218]
3. 3 [Option ID = 219]
4. 4 [Option ID = 220]
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11) Which of the following is used to analyze the misconceptions and learning difficulties of
children in a particular concept ?
(1) Norm-Referenced test
(2) Criterion-referenced test
(3) Diagnostic test
(4) Remedial teaching

Freaforfas & 7 B s g==51 § B B gaemon F ofy gifet oF
SR 7 o 77 Fearear % Aeemm F o Far ST g2

(1) A=A T

(2) FTETE-AEraT TEAT

(3) F=rieT wiar

(4) T forgmr

[Question ID = 56][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q56]
1. 1 [Option ID = 221]
2. 2 [Option ID = 222]
3. 3 [Option ID = 223]
4. 4 [Option ID = 224]

12) On the basis of the information given in the statement, which of the following teaching strategy
gives first-hand experience to the learner to construct mathematical knowledge ?
Statement : A teacher wants to teach the concept that sum of the angles in a quadrilateral is
360°.
Teaching strategies :
.  Teacher draws a quadrilateral on blackboard and measures its angles using
protractor and shows that sum of the angles is equal to 360°.

ll. Teacher draws a quadrilateral on a piece of paper and draws its diagonal to

divide it in to two triangles. He uses angle sum property of triangles to show that
sum of the angles of a quadrilateral is 360°.

lll. Teacher asks students to construct various types of quadrilaterals on a piece of
paper and measure their interior angles and find out the sum of the angles in
each type of quadrilateral.

Choose the correct option :
(1) Only |

(2) Only 1Nl

(3)land |l

(4) 11 and Il
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FAT H = T AHAET & arg o, FeifEs § F fe-aft geme a9 e

FAfert foramdt v il st 1 /=TT 97 F7 T AET =1 AT e ?

9 : TF fore® =7 dFemoT F uge JvEar £ 06 Sqge § Frn w5 Aneree

360° £ |

fareror B fert

| Tras eamTg 9T UF IS 9T £ d@T IEE IO ST T0ET A6
ITART F2F AT9AT ¢ 7 Famr 2 & F0 &7 T 360 F J7E7
-4

Il forer TS F 0F ZHe TF UF qqHS di=ar g T 5T e uw
At dff=ar g ol wqe #r 2 Brget & Frarfom B o 7% =2
Pregsit 3 F107 F197 qOrerd FT ITHAT FF Rt & B sl F Ao
T AETEHA 360° 2 |

. Torers ral F7T TS F TF 295 T¢ A6 TH0 F TG a9 5
T FgaT & o S AFTF HIT A AT A TAT THE F TS
H T FT TR A9 F (o0 Fgam 2 |

Tl fAFeT 1 3397 Fier

(1) Fa |

(2) F= Il

EIE ]

@)1 #= 1

[Question ID = 57][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q57]
1. 1 [Option ID = 225]
2. 2 [Option ID = 226]
3. 3 [Option ID = 227]
4. 4 [Option ID = 228]

13) According to National Curriculum Framework, 2005, which of the following is not true for
including mathematics used in various cultures by street vendors and common people in a
primary grade mathematics curriculum ?

(1) There is no linkage between formal mathematics and the one used by street vendors and
common people.

(2) There are immensely rich mathematical activities performed by common people which can
be included in classroom discussions.

(3) Inclusion of diverse mathematical practices of various cultures can be utilized to make
mathematics learning interesting and relevant.

(4) Children from diverse cultural backgrounds can bring different ways of dealing with
numbers, calculations and counting in classroom discussions.
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T TEA=AT =uvET, 2005 F waare, Ay @epiar § = G o
AT AN ZTIT STANT 3 AT Aver a0 T GTEHE AT & i ara=Ear §
griaer T o g Refortas § & F9-91 797 977 7gi 2 ?

(1) sro=Tiea AT S 9= SwaTe 4T A A g WA o S A
T F Fre HAT AR £ |

(2) A AR ZT 9= aiod i . wrft a9z ofe gg=agr £ 3T g
FATT =97 F onfaer fFm o T £

(3) AfSra degfaat & wgaa wfrdr =ragrad &1 onfae F7A7 A0 F ATETH
T ST 3w T F e B s A g

(4) BTy 7=l § g a=x g, e i ofwes F ffaes 3wt #
FATT =T F oA T TFA ¢ |

[Question ID = 58][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q58]

1. 1 [Option ID = 229]

2. 2 [Option ID = 230]

3. 3 [Option ID = 231]
4. 4 [Option ID = 232]

14) A common error that 2 mathematics teacher often encounters when children are asked to add
two fractions is; Adding the numerator with the numerator and denominator with the
denominator. What could be the most probable reason for such error 7

(1) Lack of written practice

(2) Lack of attention in the class

(3) Prior understanding of children related to addition of natural numbers
(4) Non-availability of teaching-learning material

WA A=Al AT 21 (91 FT FISd & (0 Fgl F747 g, 79 UF qrH0F A2 |1 T
T fOrer 93 OTaT 2, 7 42 € 1% a=4 S9r i S F 97 A7 g A g F AT
SrEd 2 | T 7 #1 gad sarfas s s frawar g 2

(1) s e 1 9arg

(2) FeAT H TAFAT FT AATT

(3) ITFHIAF T2 F AW T HATHT F=A1 A T THA

(4) Faverr-grfaeTe ATHIAT AT AT

[Question ID = 59][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q59]
1. 1 [Option ID = 233]
2. 2 [Option ID = 234]
3. 3 [Option ID = 235]
4. 4 [Option ID = 236]
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15) Which of the following assessment techniques will help to reduce the fear and anxiety in
mathematics among learners ?
(a) Project
(b) Cooperative learning tasks
(c) Paper-pencil test
(d) Summative assessment
Choose the correct option :

(1)(b) and (c)
(2)(a) and (d)
(3) (b) and (d)
(4) (a) and (b)

et § 7 arrew f Fa-f @Al aftrmratat F 8= afa § 97 68
=T 1 F7 F79 § mgraar wr ?

(a) wf¥aTeraT

(b) FEART ATHTH F17F

(c) TIT-GfHer =ve

(d) FRTHF Ao

21 [Aeom 1 =77 fifwo

(1) (b) &= (c)

(2) (a) & (d)

(3) (b) &7 (d)

(4) (a) 91 (b)
[Question ID = 60][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q60]
1. 1 [Option ID = 237]
2. 2 [Option ID = 238]

3. 3 [Option ID = 239]
4. 4 [Option ID = 240]

Topic:- EVS_Q61-75_P1_S1_CTET

1) Which of the following statement of a teacher reflects ‘Gender Bias' ?

(1) “Students ! All of you have done well |"

(2) “Boys ! you always make noise !"

(3) “Boys and girls, lets all play a game.”

(4) “Students, | am not happy with your performance.”
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o & & Beft o #1 Fa-ar w17 T @i #1929 #2418 ?

(1) “FEr=nfi=r | g adT 7 sw=gram T g

(2) “eret | FH FHAT 9T qATT 2017

(3) "t e T, e ZH a9 vE ga ao "

(4) ‘P, & ger wmem g agi g 1"
[Question ID = 61][Question Description = CTET_P1_PART_3_EVS_SET_124_Q61]
1. 1 [Option ID = 241]
2. 2 [Option ID = 242]

3. 3 [Option ID = 243]
4. 4 [Option ID = 244]

2) Which material is used for making solar cell ?

(1) Lead
(2) Sodium

(3) Copper
(4) Silicon

1T #er = T g e o= 1 g e e 2 2

(1)@=

(2) AT aw
(3) Fo™

(4) Frferrte

[Question ID = 62][Question Description = CTET_P1_PART_3_EVS_SET_124_Q62]
1. 1 [Option ID = 245]
2. 2 [Option ID = 246]
3. 3 [Option ID = 247]
4. 4 [Option ID = 248]

3) Which of the following statement reflects 'Gender stereotyping’ ?

(1) Generally girls are better cooks than boys.

(2) Asians are not good in sports.
(3) Generally girls have less muscle mass compared to boys.

(4) Boys and girls took part in wrestling.

et 5 & F19-a7 Fo9 i =Razar i #7ar g ?

(1) AT TEFAT TEH1 7 Agd7 AT AATAT 2 |

(2) TFIrTE T AT F d= Al g g |

(3) ATHTI: TEFI il e H AefHal F7 Tof i =13 FH v 2 |
(4) TEHt T FElFAr 7 oAt 7 Fea o

[Question ID = 63][Question Description = CTET_P1_PART_3_EVS_SET_124_Q63]
1. 1 [Option ID = 249]
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2. 2 [Option ID = 250]
3. 3 [Option ID = 251]
4. 4 [Option ID = 252]

4) The male bird makes many beautiful woven nests and the female bird chooses, the best one to
lay her eggs. The bird is

(1) Weaver bird
(2) Dove

(3) Tailor bird
(4) Sunbird

7v =z g o7 g57 qemae arer diaer aerET o g e o Faew
FfEar Traar aue 6% 3 F o T & | 7w =fEar g 2

(1) 7 (SpeeT =)

(2) FrEAT

(3) == =i

(4) sTFTETT
[Question ID = 64][Question Description = CTET_P1_PART_3_EVS_SET_124_Q64]
1. 1 [Option ID = 253]
2. 2 [Option ID = 254]

3. 3 [Option ID = 255]
4. 4 [Option ID = 256]

5) Which of the following insects live in a group and have specific role allocation ?

(1) Honeybees, Ants, Spiders

(2) Wasps, Termites, Ants

(3) Ants, Mosquitoes, Spiders

(4) Honeybees, Housefly, Termites

ﬁmﬁaﬁ?ﬁﬁaﬁﬁ-ﬁﬁz#ﬁfﬁﬁﬁﬁaﬁrﬁmﬁﬁﬁﬁqﬁﬁﬂﬁﬁ
22
(1) Few=4T, Heat, 9Fe T
(2) 74T, <19, Jiteat
(3) Fifzat, g=z7, At
(4) TEAFET, 7 F 9T A ATAT THAT, ST
[Question ID = 65][Question Description = CTET_P1_PART_3_EVS_SET_124_Q65]
1. 1 [Option ID = 257]
2. 2 [Option ID = 258]

3. 3 [Option ID = 259]
4. 4 [Option ID = 260]
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6) ldentify the flowers.
A - bloom only at night
B - used for making medicines
C - used for making dyes
D - bloom all the year round
A, B, C and D respectively are
(1) Hibiscus, Marigold, Rose, Datura
(2) Night queen, Hibiscus, Marigold, Rose
(3) Jasmine, Rose, Datura, Chrysanthemum
(4) Vinca, Datura, Rose, Chrysanthemum

FAL FT TEATT I |

A - Fae 7T § & e

B - Sirafer 9T F FT | @ FET 5
C - ¥37T¢ % 19 & &747 S1471 5

D - g7 a7 a7 e &

A B C#HTD#FNT: E

(1) =T, =T, T, &g
(2) 717 FT 7T, [EEA, =T, TATH

(3) FHHAT, AT, AT, qASTSAT
(4) FETEE, €T, TATE, TAITEAT

[Question ID = 66][Question Description = CTET_P1_PART_3_EVS_SET_124_Q66]
1. 1 [Option ID = 261]
2. 2 [Option ID = 262]
3. 3 [Option ID = 263]
4. 4 [Option ID = 264]

7) Which of the following statements is nof correct in the context of honeybees in a beehive ?

(1) Only gueen bee lays eggs.
(2) Worker bees are male bees.
(3) There are only few male bees in a hive.

(4) There is only one queen bee in a hive.

HEAFA F g § FYAFaal & a7 § [Fafertad § § F19-97 7499 787 7@l ¢

?

(1) Frer 7ol et A AT Y
(2) e Tt (F7 F7 AT 77w 2
(3) &= H F &1 77 HiFaAt 2ram 2 |

(4) B FoAer UF Y AT AFAT AL
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[Question ID = 67][Question Description = CTET_P1_PART_3_EVS_SET_124_Q67]
1. 1 [Option ID = 265]
2. 2 [Option ID = 266]
3. 3 [Option ID = 267]
4. 4 [Option ID = 268]

8) Which of the following set is of fruits ?
(1) Potato, Brinjal, Mango
(2) Banana, Brinjal, Radish
(3) Tomato, Banana, Ginger
(4) Banana, Ladyfinger (okra), Potato

T § g Ta-aT T T F1¢ ?
(1) &reg, 3577, @9
(2) FaT, &9, T
(3) ZHTET, FAT, AZ7TH
(4) ¥, Fadt, g
[Question ID = 68][Question Description = CTET_P1_PART_3_EVS_SET_124_Q68]
1. 1 [Option ID = 269]
2. 2 [Option ID = 270]

3. 3 [Option ID = 271]
4. 4 [Option ID = 272]

9) Which of the statements is not correct regarding stepwells found in many parts of India ?

(1) They are traditional systems of water conservation.
(2) The water in stepwells cannot be used for drinking.
(3) They are based on principle of rainwater harvesting and recharging.

(4) They are used as community resource.

qTTA F A TATHI A G041 T2 ATA2A1 & HA9 F FIA-A7 FI7 Tof Agie ?

(1) T a1 Fq0 FT TEFIF =FaTaT 2 |
(2) FmafE=t &1 o v F o s & 98 A S aEAT g
(3) & AUTHS HIEW A7 T AT F g 97 drania € |
(4) TAHT SN ATHETAF FAT9F % =7 F Farsmar )
[Question ID = 69][Question Description = CTET_P1_PART_3_EVS_SET_124_Q69]
1. 1 [Option ID = 273]
2. 2 [Option ID = 274]

3. 3 [Option ID = 275]
4. 4 [Option ID = 276]
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10) A ftrain travelling from Ahmedabad in Trivandrum crosses many tunnels. These tunnels are in
the hills of

(1) Eastern Ghats
(2) Western Ghats
(3) Himalayas

(4) Aravalli

TF TOETET AgHEEaTE & G it i 9w g w6 et § qeedr £ F g9
[EER AR

(1) Tt ==

(2) afEft 2=

(3) femmerT

(4) FTTEAT

[Question ID = 70][Question Description = CTET_P1_PART_3_EVS_SET_124_Q70]

1. 1 [Option ID = 277]

2. 2 [Option ID = 278]

3. 3 [Option ID = 279]

4. 4 [Option ID = 280]

11) Which of the following statements is true regarding elephants ?
Assertion (A) : An elephant herd has only female elephants and baby elephants.
Reason (R) : Male elephants move around alone.

(1) Both A and R are true and R is the correct explanation for A
(2) Both A and R are true but R is not correct explanation for A
(3) A is correct but R is not correct

(4) Both A and R are not correct

et f s Fm g F I Fa9gr g 2

FfawaT (A) T FH H FAa ArEr g de a=w grfr g9 € |
7 (R) -7 grft =091 e 9t 21 THA 2 |

(1VAST RIFAT AL 2 A7 R, AT 781 == 2

(2) A 3T R F1+11 72t & @i R, A FT 721 =T 781 &

(3) A\ET € wie RAET 7R €

(4) A &7 R TI9T A2l 78l ¢

[Question ID = 71][Question Description = CTET_P1_PART_3_EVS_SET_124_Q71]
1. 1 [Option ID = 281]
2. 2 [Option ID = 282]
3. 3 [Option ID = 283]
4. 4 [Option ID = 284]
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12) The Haemoglobin level in the blood test reports of four class V children is given below :
Aman - 8 g/d|
Radhika - 10 g/d|
Surjeet - 14 g/di
Maria - 6 g/dl
Which of these children are anaemic ?
(1) Aman and Maria
(2) Radhika and Surjeet
(3) Aman, Radhika and Surjeet
(4) Aman, Radhika and Maria

FT FAT T1F F AT T=AL F GA D AF 02 F IAF GIHAANST w7 F AT H
TATAT AT 5

T - 8 g/dl

TR - 10 g/l

q7sid - 14 g/di

1T - 6 g/dl

s & e a==t ¥ v-govar (et £ 2

(1) &9 &7 |

(2) =TierT S qEsta

(3) &=, TITEFT AT IS
(4) s, iR S o

[Question ID = 72][Question Description = CTET_P1_PART_3_EVS_SET_124_Q72]
1. 1 [Option ID = 285]
2. 2 [Option ID = 286]
3. 3 [Option ID = 287]
4. 4 [Option ID = 288]

13) Which of the following statements regarding eyes in birds is/are true ?
S7.: All birds have eyes on either side of their head.
S2: Birds cannot focus on two different things at a time.

(1) S1is true and S2 is false
(2) S1is false and S2 is true
(3) Both S1 and S2 are true

(4) Both S1 and S2 are false
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e ft afe F ar & Pt § F fm-aa F99 98 88 2

S1: #d =ET F arw A7 F I+ 97 A@F 2ET 2 |

S2: izt 31 fre-fae avgedt o v & a9 7w 3 Fiee a8 77
9T g |

(yS1#agTgdw S2TaA g

(2)S1 WA g 47 S2 7T 2

(3)S1 i S2 IWT A2l &

(4) 81 3T S2 F1T Tad &

[Question ID = 73][Question Description = CTET_P1_PART_3_EVS_SET_124_Q73]
1. 1 [Option ID = 289]
2. 2 [Option ID = 290]
3. 3 [Option ID = 291]
4. 4 [Option ID = 292]

14) Which of the following features of tigers do nof help them move in dark and find the prey ?

(1) Sensitive whiskers

(2) Movement of ears in different directions
(3) Loud roar

(4) Sharp sense of hearing

amat (zree) A Fefafm § & Fia-f fftread 5% 687 § a7 927 &
AT o Ao | 7EE agf w2

(1) FaFefier o=

(2) TS fromet & w1 7 b7

(3) FT= ¥ AT

(4) T T AT AT

[Question ID = 74][Question Description = CTET_P1_PART_3_EVS_SET_124_Q74]
e

3. 3 [Option ID = 295]
4. 4 [Option ID = 296]
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15) Match the following correctly :

National Park State in India
A. Jim Corbett i. Assam
B. Kaziranga ii. Uttarakhand
C. Ranthambore ii. Gujarat
D. Gir iv. Rajasthan

(1)A-iii, B-iv, C-i, D~ii
(2)A -ii, B-i, C-iv, D-ii
(3)A-iv, B-ii,C-i, D~
(4)A-i, B -iii, C-iv, D~ii

et =1 a2t e fife -
T T qTTT ¥ 75T
A. o =wiae i @m
B. STHEAT ii. IEITEE
C. ToqwIT jii. T[T
D. e iv. TSI

(NA-ii,B-iv,C-i,D-1

(2)A-ii,B-i,C-iv,D-iii

(3)A-iv, B-ii,C-i,D-iii

(4)A-i, B -iii, C - iv, D i
[Question ID = 75][Question Description = CTET_P1_PART_3_EVS_SET_124_Q75]
1. 1 [Option ID = 297]
2. 2 [Option ID = 298]

3. 3 [Option ID = 299]
4. 4 [Option ID = 300]

Topic:- EVS_Q76-90_P1_S1_CTET

1) When an EVS teacher takes his/her students to a zoo, helshe intends to

(1) Sensitize students for animal protection

(2) Give exposure to students to make teaching enjoyable
(3) Correlate classroom learning to real-life situation

(4) Develop skills in students to domesticate animals
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W TATET derad & e g ==t w1 SEarw fww 9w ) A 9w e
I29T A I FEATARAE ?
(1) F==T FT ATFAZLN & AL F T TAATT TFHT
(2) =41 T WAZIT T0% F H1E FT A7 247
(3) ATEataT sfiaw i afrRafAat o war F=msy 5 A= v Teaer enfig
FIAT
(4) TFT | TS AT TTAT F TG AT ARAT FIAT
[Question ID = 76][Question Description = CTET_P1_PART_3_EVS_SET_124_Q76]
1. 1 [Option ID = 301]
2. 2 [Option ID = 302]

3. 3 [Option ID = 303]
4. 4 [Option ID = 304]

2) Ramesh frequently asks probing questions in his class V EVS class. The appropriate aim is not
at improving students’
(1) Demonstration skills
(2) Observation skills

(3) Creative skills
(4) Listening skills

THL ATAT FAT V FT TAET0 AeAaT 1 FET H Grg0r 99 [HAr g | TG
T2 et & B svm F Em s At &2
(1) J=eT FroTT
(2) FTATHA FroreT
(8) THATHE A9
(4) =T FYerer
[Question ID = 77][Question Description = CTET_P1_PART_3_EVS_SET_124_Q77]
1. 1 [Option ID = 305]
2. 2 [Option ID = 306]

3. 3 [Option ID = 307]
4. 4 [Option ID = 308]
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3) In environmental studies, which of the following are characteristics of problem solving ?
A. Construction
B. Selection
C. Declamation
D. Writing
Choose the correct option -

(1Y)Aand B
(2)CandD
(3)Aand D
(4)BandD

AT gerae §, FeferiEe & § F -8 a9 a9 F g 2
A T
B. =4
C. 9™
D. @&
T2t famer g -
(1)A 7B
(2)C &7 D
(3) AT D
(4)B&#TD
[Question ID = 78][Question Description = CTET_P1_PART_3_EVS_SET_124_Q78]
2 2 lowtion o - 310

3. 3 [Option ID = 311]
4. 4 [Option ID = 312]

4) The language that has to be used by an EVS teacher should be

(1) formal with emphasis on definition.

(2) difficult for children to comprehend.

(3) related to everyday language of the child.
(4) technical in nature.

o 2 AT, TR ¥ T S g0 AT T Ay

(1) A=t mF afraTaTsAt 9T 9 39 gTdl 2l Jig |
(2) ==t F form wfoa g1 =TT a1t F 79 7 7 |
(3) ==t Fit Aot F arar & F@=4fET g =R |
(4) wrfE e sFfE At ZT =R |

[Question ID = 79][Question Description = CTET_P1_PART_3_EVS_SET_124_Q79]
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1 [Option ID = 313]
2 [Option ID = 314]
3 [Option ID = 315]
4 [Option ID = 316]

A wnN =

5) Use of attractive and relevant instructional materials are helpful because they

(1) Activate all senses.

(2) Make learning more meaningful.

(3) Help teachers in teaching-leamning process.
(4) Attract students’ attention.

AHAH TH TTHE AR T FT ST SEraE g F A A

(1) 7T AT 1 AFT FTAE |

(2) sifaeTe Fir =fd AT awTT 2 |

(3) Porat 1 Prar-srfdems wfen H agrar w2 £

(4) =T &1 e it F7a 2 )
[Question ID = 80][Question Description = CTET_P1_PART_3_EVS_SET_124_Q80]
1. 1 [Option ID = 317]
2. 2 [Option ID = 318]

3. 3 [Option ID = 319]
4. 4 [Option ID = 320]

6) ldentify the least important activity in teaching of EVS.

(1) Discussion with students

(2) Drawing diagrams and sketches on worksheets
(3) Punishing disobedient students

(4) Taking students outside for nature walk

T AT, % fora § =T qgeA ! AArherrT i TgAT e |
(1) F=nfaat & aft==t
(2) FrET=t o7 BT e =rar F Famw
(3) s et w7 a=r 3T
(4) Fr=nfer 1 argz wfH ff &% a7 & s
[Question ID = 81][Question Description = CTET_P1_PART_3_EVS_SET_124_Q81]
1. 1 [Option ID = 321]
2. 2 [Option ID = 322]

3. 3 [Option ID = 323]
4. 4 [Option ID = 324]
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7) Identify the objective behind including riddles in environmental studies.

(1) To confuse students

(2) To develop logical skills in students

(3) To confuse students and derive pleasure from it
(4) To make students play

Freaforfeas § 7, waiEor geaae s § uefoat &1 afEafed #39 F 3597 7
TEATHT |
(1) FE=nta=T & 99 F1 9o F7A7
(2) FEenfo=T 7 7 sraar fE=faa
(3) A==t & == #1 afia Foa7 ofiv =97 sref=a gmr
(4) FE=nfrT & A AT
[Question ID = 82][Question Description = CTET_P1_PART_3_EVS_SET_124_Q82]
1. 1 [Option ID = 325]
2. 2 [Option ID = 326]

3. 3 [Option ID = 327]
4. 4 [Option ID = 328]

8) Questioning by students is important in teaching-learning of Environmental Studies because it
reflects

A. students’ curiosity
B. gap in students’ understanding
C. capability of teacher

(1)A and B
(2)BandC
(3) C only
(4)A,BandC

AT FErAe & - AfAT § Rt 21 weT ToAT AsaiiE qEeagl §
ERUER R e LE

A. et £ fsmar %

B. PAenfiai Fswsr A da< %

C. fora=+ awar s

(1)ASTB
(2)B#TC
(3)Fa7 C
(4)A, B#7C

[Question ID = 83][Question Description = CTET_P1_PART_3_EVS_SET_124_Q83]
1. 1 [Option ID = 329]
2. 2 [Option ID = 330]
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3. 3 [Option ID = 331]
4. 4 [Option ID = 332]

9) Choose the incorrect statement.

(1) EVS is an interdisciplinary subject.

(2) EVS should be learnt through local resources.

(3) EVS primarily deals with the study of biodiversity.

(4) EVS should be leamnt through language and mathematics in class | and Il

TAT FAT FT FA9 AT |

(1) 2477 v s Faw

(2) E.A7 0. TEAT-TETAT ST HATHAT F QTSI 7 M1 =S0E |

(3) AT mH. qeaa: -y F e a S E

(4) e | &7 11 5 £ A7 e freror T e wfore 3 wrery & ST TR
[Question ID = 84][Question Description = CTET_P1_PART_3_EVS_SET_124_Q84]
1. 1 [Option ID = 333]
2. 2 [Option ID = 334]

3. 3 [Option ID = 335]
4. 4 [Option ID = 336]

10) In case of below average students in class what would you do as an EVS teacher ?

(1) Make them write concepts many times

(2) Make them sit in the first row and guide them constantly

(3) Identify their weak areas and design remedial measures for them
(4) Give them additional tasks for home for practice

T A0 AEAAT (905 219 & A79 AT ATAT FAT F A9 Gl & g F7
FIA?

(1) 372 FF =17 sragro forae F oo 3= r
(2) 3¢ TEH Ui F ABTHT AT AR FEAT
(3) I FHAY TEAT T ZFAT U AT & (o717 THTATT F 1T TH AR FOAT
(4) 7T Afaf= 0 97 | e F o 3=
[Question ID = 85][Question Description = CTET_P1_PART_3_EVS_SET_124_Q85]
1. 1 [Option ID = 337]
2. 2 [Option ID = 338]

3. 3 [Option ID = 339]
4. 4 [Option ID = 340]
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11) The area of environmental studies includes
(1) Formal Education
(2) Non-Farmal Education
(3) Formal and Non-Formal Education
(4) School Education

T FerAd v F a7 ¥ aftafoa g

OEEuEATIE

(2) FATTRTI S TorET

(3) siro=riea & st forar
(4) Fr=rmerft forar

[Question ID = 86][Question Description = CTET_P1_PART_3_EVS_SET_124_Q86]
1. 1 [Option ID = 341]
2. 2 [Option ID = 342]
3. 3 [Option ID = 343]
4. 4 [Option ID = 344]

12) Conceptual understanding in students’' improves when teacher emphasizes upon
(1) Dialogue
(2) Written and oral tests
(3) Textbooks
(4) Competition

EEURRIE R E R e e e i e R G A E R e e R o

(1) == 97
(2) oo ve wifas whar o

(3) TTETER TT
(4) wTaeTUT 97

[Question ID = 87][Question Description = CTET_P1_PART_3_EVS_SET_124_Q87]
1. 1 [Option ID = 345]
2. 2 [Option ID = 346]
3. 3 [Option ID = 347]
4. 4 [Option ID = 348]
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13) An anecdotal record should not
A.  focus on problems
B. make judgments
C. identify children's strengths and weaknesses
D. identify children’s interest and curiosity
Choose the correct pair
(1YAand B
(2)CandD
(3)BandC
(4)Band D

SUTETATAF Af9ed § 59 | FI7 dgl 21471 AT’ ?
A. THEITHAT 9% HET 2T

B. fAwrras g

C. a=d1 &l qTHd AT FAANLAT H1 TgATAAT

D. =1 #it = v s v ag=

TH AT

(1)A@TB

(2)C &7 D

(3)BsfTC

(4)B &7 D
[Question ID = 88][Question Description = CTET_P1_PART_3_EVS_SET_124_Q88]
1. 1 [Option ID = 349]
2. 2 [Option ID = 350]

3. 3 [Option ID = 351]
4. 4 [Option ID = 352]

14) In an EVS class, a teacher discusses that houseflies spread diseases. The most appropriate
learning resource for discussion will be

(1) Newspaper
(2) Flashcards
(3) Slogans
(4) Posters
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mF AT, A AT H, vF foraw =9y Fear § B oaw f wfEgat et
FArdr g | =T % o 798 Iuga draq F1 JArhE ge

(1) F=aT™
(2) FroTETEH
(3) T
(4) Tre=e

[Question ID = 89][Question Description = CTET_P1_PART_3_EVS_SET_124_Q89]
1. 1 [Option ID = 353]
2. 2 [Option ID = 354]
3. 3 [Option ID = 355]
4. 4 [Option ID = 356]

15) Sarita teaches the topic 'Games we play’ by taking students to the playfield and making them
play different games on different days. Meenu teaches the same topic by showing

picture-cards of different games to students.
Who is using a more effective strategy for maximum involvement of students ?

(1) Sarita

(2) Meenu

(3) Depends on the situation
(4) Both Sarita and Meenu

G W H IS GRS gu Atear A=At Fr 5 F 45 § 7 «wi g A7 I
g Bt § fAfee @ ey g #3351 9T i denr-ae T aet
Fr=-wre =1 Fam Fenfia #v ot 21

ot 1 aftwas aifae w97 F T SIET 9 T 5 ST w7 Rl
27

(1) #fear

(2) #ig

(3) affeafa o= e F7ar £

(4) Zret wfraT & fig

[Question ID = 90][Question Description = CTET_P1_PART_3_EVS_SET_124_Q90]
1. 1 [Option ID = 357]
2. 2 [Option ID = 358]
3. 3 [Option ID = 359]
4. 4 [Option ID = 360]

Topic:- ENG_Q91-99_L1_P1_S1_CTET
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1) Directions : Read the passage given below and answer the questions by selecting the correct /
most appropriate options.
1. Ruskin Bond, the famous Anglo-Indian writer worked for a while in a photo studio in England
while trying to find a publisher for his works. Once he started earning money from his writing,
he moved back to India and settled in Dehradun.
2. He spent the next few years eaming his living as a freelance writer, penning short stories
and poems for newspapers and magazines. In 1963, he went to live in Mussoorie where he
furthered his writing career.
3. By this time he was a popular writer and his essays and articles were published in numerous
magazines and newspapers, such as ‘The Pioneer, 'The Leader', ‘TheTribune', and ‘The
Telegraph'. He alsc edited a magazine for four years.
4. In 1980, one of his most popular novels, ‘The Blue Umbrella’ was published. His increasing
fame as a writer caught the attention of Penguin Books. The publishers approached Bond in
the 1980s and asked him to write a few books. Two of his previous novels, ‘The Room on the
Roof' and its sequel Vagrants in the Valley' were published in one volume by Penguin India in
1993.
5. Over the ensuing years several of his works including a collection of his non-fiction writings,
‘The Best of Ruskin Bond’, and collections of short stories ‘'The Night Train at Deoli’, ‘Time
Stops At Shamli’, ‘Our Trees Still Grow In Dehra’ were published. Some of his popular titles in
the supernatural genre are '‘Ghost Stories from the Raj’, ‘A Season of Ghosts', and 'A Face in
the Dark and Other Hauntings'.
6. Ruskin Bond has experimented with different genres including fiction, essays,
autobiographical, non-fiction, romance, and books for children. He has authored over 500 short
stories, essays and novels, more than 50 books for children, and two volumes of
autobiography, ‘Scenes from a Writer's Life’ and ‘The Lamp is Lit".

The paragraph expresses the fact that

(1) moving to UK was a profitable decision for Bond.

(2) retumning to India from the UK was a profitable decision for Bond.

(3) spending money in UK was not difficult for Bond.

(4) moving to Dehradun turned out to be disastrous for Bond.
[Question ID = 121][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_ENGLISH_Q91]
1. 1 [Option ID = 481]
2. 2 [Option ID = 482]

3. 3 [Option ID = 483]
4. 4 [Option ID = 484]
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2) Directions : Read the passage given below and answer the questions by selecting the correct /
most appropriate options.
1. Ruskin Bond, the famous Anglo-Indian writer worked for a while in a photo studio in England
while trying to find a publisher for his works. Once he started earning money from his writing,
he moved back to India and settled in Dehradun.
2. He spent the next few years eaming his living as a freelance writer, penning short stories
and poems for newspapers and magazines. In 1963, he went to live in Mussoorie where he
furthered his writing career.
3. By this time he was a popular writer and his essays and articles were published in numerous
magazines and newspapers, such as ‘The Pioneer, 'The Leader', ‘TheTribune', and ‘The
Telegraph'. He alsc edited a magazine for four years.
4. In 1980, one of his most popular novels, ‘The Blue Umbrella’ was published. His increasing
fame as a writer caught the attention of Penguin Books. The publishers approached Bond in
the 1980s and asked him to write a few books. Two of his previous novels, ‘The Room on the
Roof' and its sequel Vagrants in the Valley' were published in one volume by Penguin India in
1993.
5. Over the ensuing years several of his works including a collection of his non-fiction writings,
‘The Best of Ruskin Bond’, and collections of short stories ‘'The Night Train at Deoli’, ‘Time
Stops At Shamli’, ‘Our Trees Still Grow In Dehra’ were published. Some of his popular titles in
the supernatural genre are '‘Ghost Stories from the Raj’, ‘A Season of Ghosts', and 'A Face in
the Dark and Other Hauntings'.
6. Ruskin Bond has experimented with different genres including fiction, essays,
autobiographical, non-fiction, romance, and books for children. He has authored over 500 short
stories, essays and novels, more than 50 books for children, and two volumes of
autobiography, ‘Scenes from a Writer's Life’ and ‘The Lamp is Lit".

In the phrase freelance writer’, the underlined word is a/an

(1) Adverb

(2) Moun

(3) Adjective

(4) Preposition
[Question ID = 122][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_ENGLISH_Q92]
1. 1 [Option ID = 485]
2. 2 [Option ID = 486]

3. 3 [Option ID = 487]
4. 4 [Option ID = 488]
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3) Directions : Read the passage given below and answer the questions by selecting the correct /
most appropriate options.
1. Ruskin Bond, the famous Anglo-Indian writer worked for a while in a photo studio in England
while trying to find a publisher for his works. Once he started earning money from his writing,
he moved back to India and settled in Dehradun.
2. He spent the next few years eaming his living as a freelance writer, penning short stories
and poems for newspapers and magazines. In 1963, he went to live in Mussoorie where he
furthered his writing career.
3. By this time he was a popular writer and his essays and articles were published in numerous
magazines and newspapers, such as ‘The Pioneer, 'The Leader', ‘TheTribune', and ‘The
Telegraph'. He alsc edited a magazine for four years.
4. In 1980, one of his most popular novels, ‘The Blue Umbrella’ was published. His increasing
fame as a writer caught the attention of Penguin Books. The publishers approached Bond in
the 1980s and asked him to write a few books. Two of his previous novels, ‘The Room on the
Roof' and its sequel Vagrants in the Valley' were published in one volume by Penguin India in
1993.
5. Over the ensuing years several of his works including a collection of his non-fiction writings,
‘The Best of Ruskin Bond’, and collections of short stories ‘'The Night Train at Deoli’, ‘Time
Stops At Shamli’, ‘Our Trees Still Grow In Dehra’ were published. Some of his popular titles in
the supernatural genre are '‘Ghost Stories from the Raj’, ‘A Season of Ghosts', and 'A Face in
the Dark and Other Hauntings'.
6. Ruskin Bond has experimented with different genres including fiction, essays,
autobiographical, non-fiction, romance, and books for children. He has authored over 500 short
stories, essays and novels, more than 50 books for children, and two volumes of
autobiography, ‘Scenes from a Writer's Life’ and ‘The Lamp is Lit".

The phrase ‘caught the attention of in this context, means

(1) the publishers were impressed by Ruskin's popularity as a writer and his writing style.
(2) the publishers were happy with the popularity that Ruskin enjoyed.
(3) the publishers were disinterested in meeting Ruskin.

(4) the publishers were looking forward to reading his next publication.

[Question ID = 123][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_ENGLISH_Q93]
1. 1 [Option ID = 489]
2. 2 [Option ID = 490]
3. 3 [Option ID = 491]
4. 4 [Option ID = 492]
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4) Directions : Read the passage given below and answer the questions by selecting the correct /
most appropriate options.
1. Ruskin Bond, the famous Anglo-Indian writer worked for a while in a photo studio in England
while trying to find a publisher for his works. Once he started earning money from his writing,
he moved back to India and settled in Dehradun.
2. He spent the next few years eaming his living as a freelance writer, penning short stories
and poems for newspapers and magazines. In 1963, he went to live in Mussoorie where he
furthered his writing career.
3. By this time he was a popular writer and his essays and articles were published in numerous
magazines and newspapers, such as ‘The Pioneer, 'The Leader', ‘TheTribune', and ‘The
Telegraph'. He alsc edited a magazine for four years.
4. In 1980, one of his most popular novels, ‘The Blue Umbrella’ was published. His increasing
fame as a writer caught the attention of Penguin Books. The publishers approached Bond in
the 1980s and asked him to write a few books. Two of his previous novels, ‘The Room on the
Roof' and its sequel Vagrants in the Valley' were published in one volume by Penguin India in
1993.
5. Over the ensuing years several of his works including a collection of his non-fiction writings,
‘The Best of Ruskin Bond’, and collections of short stories ‘'The Night Train at Deoli’, ‘Time
Stops At Shamli’, ‘Our Trees Still Grow In Dehra’ were published. Some of his popular titles in
the supernatural genre are '‘Ghost Stories from the Raj’, ‘A Season of Ghosts', and 'A Face in
the Dark and Other Hauntings'.
6. Ruskin Bond has experimented with different genres including fiction, essays,
autobiographical, non-fiction, romance, and books for children. He has authored over 500 short
stories, essays and novels, more than 50 books for children, and two volumes of
autobiography, ‘Scenes from a Writer's Life’ and ‘The Lamp is Lit".

The fact that Ruskin Bond has been a versatile writer is evident from the
(1) number of publishers who were interested in publishing his books.
(2) variety of themes on which he has written his books.

(3) variety of places described in his books.

(4) richness of the language he has used in his books.

[Question ID = 124][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_ENGLISH_Q94]
1. 1 [Option ID = 493]
2. 2 [Option ID = 494]
3. 3 [Option ID = 495]
4. 4 [Option ID = 496]

Download from www.MsEducationTv.com



5) Directions : Read the passage given below and answer the questions by selecting the correct /
most appropriate options.
1. Ruskin Bond, the famous Anglo-Indian writer worked for a while in a photo studio in England
while trying to find a publisher for his works. Once he started earning money from his writing,
he moved back to India and settled in Dehradun.
2. He spent the next few years eaming his living as a freelance writer, penning short stories
and poems for newspapers and magazines. In 1963, he went to live in Mussoorie where he
furthered his writing career.
3. By this time he was a popular writer and his essays and articles were published in numerous
magazines and newspapers, such as ‘The Pioneer, 'The Leader', ‘TheTribune', and ‘The
Telegraph'. He alsc edited a magazine for four years.
4. In 1980, one of his most popular novels, ‘The Blue Umbrella’ was published. His increasing
fame as a writer caught the attention of Penguin Books. The publishers approached Bond in
the 1980s and asked him to write a few books. Two of his previous novels, ‘The Room on the
Roof' and its sequel Vagrants in the Valley' were published in one volume by Penguin India in
1993.
5. Over the ensuing years several of his works including a collection of his non-fiction writings,
‘The Best of Ruskin Bond’, and collections of short stories ‘'The Night Train at Deoli’, ‘Time
Stops At Shamli’, ‘Our Trees Still Grow In Dehra’ were published. Some of his popular titles in
the supernatural genre are '‘Ghost Stories from the Raj’, ‘A Season of Ghosts', and 'A Face in
the Dark and Other Hauntings'.
6. Ruskin Bond has experimented with different genres including fiction, essays,
autobiographical, non-fiction, romance, and books for children. He has authored over 500 short
stories, essays and novels, more than 50 books for children, and two volumes of
autobiography, ‘Scenes from a Writer's Life’ and ‘The Lamp is Lit".

Apart from writing, Ruskin spent four years as a/an

(1) shopkeeper in the UK.
(2) writer in Dehradun.
(3) painter in Mussoorie.

(4) editor of a magazine.

[Question ID = 125][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_ENGLISH_Q95]
1. 1 [Option ID = 497]
2. 2 [Option ID = 498]
3. 3 [Option ID = 499]
4. 4 [Option ID = 500]
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6) Directions : Read the passage given below and answer the questions by selecting the correct /
most appropriate options.
1. Ruskin Bond, the famous Anglo-Indian writer worked for a while in a photo studio in England
while trying to find a publisher for his works. Once he started earning money from his writing,
he moved back to India and settled in Dehradun.
2. He spent the next few years eaming his living as a freelance writer, penning short stories
and poems for newspapers and magazines. In 1963, he went to live in Mussoorie where he
furthered his writing career.
3. By this time he was a popular writer and his essays and articles were published in numerous
magazines and newspapers, such as ‘The Pioneer, 'The Leader', ‘TheTribune', and ‘The
Telegraph'. He alsc edited a magazine for four years.
4. In 1980, one of his most popular novels, ‘The Blue Umbrella’ was published. His increasing
fame as a writer caught the attention of Penguin Books. The publishers approached Bond in
the 1980s and asked him to write a few books. Two of his previous novels, ‘The Room on the
Roof' and its sequel Vagrants in the Valley' were published in one volume by Penguin India in
1993.
5. Over the ensuing years several of his works including a collection of his non-fiction writings,
‘The Best of Ruskin Bond’, and collections of short stories ‘'The Night Train at Deoli’, ‘Time
Stops At Shamli’, ‘Our Trees Still Grow In Dehra’ were published. Some of his popular titles in
the supernatural genre are '‘Ghost Stories from the Raj’, ‘A Season of Ghosts', and 'A Face in
the Dark and Other Hauntings'.
6. Ruskin Bond has experimented with different genres including fiction, essays,
autobiographical, non-fiction, romance, and books for children. He has authored over 500 short
stories, essays and novels, more than 50 books for children, and two volumes of
autobiography, ‘Scenes from a Writer's Life’ and ‘The Lamp is Lit".

‘Autobiographical’ means

(1) writing about someone else's life.

(2) writing about someone famous.

(3) writing about one’s own life.

(4) writing about one's family.
[Question ID = 126][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_ENGLISH_Q96]
1. 1 [Option ID = 501]
2. 2 [Option ID = 502]

3. 3 [Option ID = 503]
4. 4 [Option ID = 504]
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7) Directions : Read the passage given below and answer the questions by selecting the correct /
most appropriate options.
1. Ruskin Bond, the famous Anglo-Indian writer worked for a while in a photo studio in England
while trying to find a publisher for his works. Once he started earning money from his writing,
he moved back to India and settled in Dehradun.
2. He spent the next few years eaming his living as a freelance writer, penning short stories
and poems for newspapers and magazines. In 1963, he went to live in Mussoorie where he
furthered his writing career.
3. By this time he was a popular writer and his essays and articles were published in numerous
magazines and newspapers, such as ‘The Pioneer, 'The Leader', ‘TheTribune', and ‘The
Telegraph'. He alsc edited a magazine for four years.
4. In 1980, one of his most popular novels, ‘The Blue Umbrella’ was published. His increasing
fame as a writer caught the attention of Penguin Books. The publishers approached Bond in
the 1980s and asked him to write a few books. Two of his previous novels, ‘The Room on the
Roof' and its sequel Vagrants in the Valley' were published in one volume by Penguin India in
1993.
5. Over the ensuing years several of his works including a collection of his non-fiction writings,
‘The Best of Ruskin Bond’, and collections of short stories ‘'The Night Train at Deoli’, ‘Time
Stops At Shamli’, ‘Our Trees Still Grow In Dehra’ were published. Some of his popular titles in
the supernatural genre are '‘Ghost Stories from the Raj’, ‘A Season of Ghosts', and 'A Face in
the Dark and Other Hauntings'.
6. Ruskin Bond has experimented with different genres including fiction, essays,
autobiographical, non-fiction, romance, and books for children. He has authored over 500 short
stories, essays and novels, more than 50 books for children, and two volumes of
autobiography, ‘Scenes from a Writer's Life’ and ‘The Lamp is Lit".

Ruskin became famous after the publication of his book
(1) The Blue Umbrella

(2) The Room on the Roof

(3) The Night Train at Decli

(4) A Season of Ghosts

[Question ID = 127][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_ENGLISH_Q97]
1. 1 [Option ID = 505]
2. 2 [Option ID = 506]
3. 3 [Option ID = 507]
4. 4 [Option ID = 508]
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8) Directions : Read the passage given below and answer the questions by selecting the correct /
most appropriate options.
1. Ruskin Bond, the famous Anglo-Indian writer worked for a while in a photo studio in England
while trying to find a publisher for his works. Once he started earning money from his writing,
he moved back to India and settled in Dehradun.
2. He spent the next few years eaming his living as a freelance writer, penning short stories
and poems for newspapers and magazines. In 1963, he went to live in Mussoorie where he
furthered his writing career.
3. By this time he was a popular writer and his essays and articles were published in numerous
magazines and newspapers, such as ‘The Pioneer, 'The Leader', ‘TheTribune', and ‘The
Telegraph'. He alsc edited a magazine for four years.
4. In 1980, one of his most popular novels, ‘The Blue Umbrella’ was published. His increasing
fame as a writer caught the attention of Penguin Books. The publishers approached Bond in
the 1980s and asked him to write a few books. Two of his previous novels, ‘The Room on the
Roof' and its sequel Vagrants in the Valley' were published in one volume by Penguin India in
1993.
5. Over the ensuing years several of his works including a collection of his non-fiction writings,
‘The Best of Ruskin Bond’, and collections of short stories ‘'The Night Train at Deoli’, ‘Time
Stops At Shamli’, ‘Our Trees Still Grow In Dehra’ were published. Some of his popular titles in
the supernatural genre are '‘Ghost Stories from the Raj’, ‘A Season of Ghosts', and 'A Face in
the Dark and Other Hauntings'.
6. Ruskin Bond has experimented with different genres including fiction, essays,
autobiographical, non-fiction, romance, and books for children. He has authored over 500 short
stories, essays and novels, more than 50 books for children, and two volumes of
autobiography, ‘Scenes from a Writer's Life’ and ‘The Lamp is Lit".

The word 'sequel’ means

(1) the second part of a book.
(2) the third part of a book.
(3) the first part of a book.

(4) a book that has many parts.

[Question ID = 128][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_ENGLISH_Q98]
1. 1 [Option ID = 509]
2. 2 [Option ID = 510]
3. 3 [Option ID = 511]
4. 4 [Option ID = 512]

Download from www.MsEducationTv.com



9) Directions : Read the passage given below and answer the questions by selecting the correct /
most appropriate options.
1. Ruskin Bond, the famous Anglo-Indian writer worked for a while in a photo studio in England
while trying to find a publisher for his works. Once he started earning money from his writing,
he moved back to India and settled in Dehradun.
2. He spent the next few years eaming his living as a freelance writer, penning short stories
and poems for newspapers and magazines. In 1963, he went to live in Mussoorie where he
furthered his writing career.
3. By this time he was a popular writer and his essays and articles were published in numerous
magazines and newspapers, such as ‘The Pioneer, 'The Leader', ‘TheTribune', and ‘The
Telegraph'. He alsc edited a magazine for four years.
4. In 1980, one of his most popular novels, ‘The Blue Umbrella’ was published. His increasing
fame as a writer caught the attention of Penguin Books. The publishers approached Bond in
the 1980s and asked him to write a few books. Two of his previous novels, ‘The Room on the
Roof' and its sequel Vagrants in the Valley' were published in one volume by Penguin India in
1993.
5. Over the ensuing years several of his works including a collection of his non-fiction writings,
‘The Best of Ruskin Bond’, and collections of short stories ‘'The Night Train at Deoli’, ‘Time
Stops At Shamli’, ‘Our Trees Still Grow In Dehra’ were published. Some of his popular titles in
the supernatural genre are '‘Ghost Stories from the Raj’, ‘A Season of Ghosts', and 'A Face in
the Dark and Other Hauntings'.
6. Ruskin Bond has experimented with different genres including fiction, essays,
autobiographical, non-fiction, romance, and books for children. He has authored over 500 short
stories, essays and novels, more than 50 books for children, and two volumes of
autobiography, ‘Scenes from a Writer's Life’ and ‘The Lamp is Lit".

A word in the passage that means ‘following' as used in this passage is

(1) increasing

(2) ensuing

(3) including

(4) haunting
[Question ID = 129][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_ENGLISH_Q99]
1. 1 [Option ID = 513]
2. 2 [Option ID = 514]

3. 3 [Option ID = 515]
4. 4 [Option ID = 516]

Topic:- ENG_Q100-105_L1_P1_S1_CTET
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1) Directions : Read the poem given below and answer the questions by selecting the correct /
most appropriate options.
Rise, brothers, rise; the wakening skies pray to the morning light,
The wind lies asleep in the arms of the dawn like a child that has cried all night.
Come, let us gather our nets from the shore and set our catamarans free,
To capture the leaping wealth of the tide, for we are the kings of the sea! 4
No longer delay, let us hasten away in the track of the sea gull's call,
The sea is our mother, the cloud is our brother, the waves are our comrades all.
What though we toss at the fall of the sun where the hand of the sea-god drives?
He who holds the storm by the hair, will hide in his breast our lives. 8
Sweet is the shade of the cocoanut glade, and the scent of the mange grove,
And swest are the sands at the full o' the moon with the sound of the voices we love;
But sweeter, O brothers, the kiss of the spray and the dance of the wild foam's glee;
Row, brathers, row to the edge of the verge, where the low sky mates with thesea. 12

‘The wind lies asleep in the arms of the dawn’ suggests that

(1) it is a sunny moming.
(2) itis a windy moming.
(3) itis a calm moming.
(4) itis a stormy momning.

[Question ID = 130][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_ENGLISH_Q100]
1. 1 [Option ID = 517]
2. 2 [Option ID = 518]
3. 3 [Option ID = 519]
4. 4 [Option ID = 520]

2) Directions : Read the poem given below and answer the questions by selecting the correct /
most appropriate options.
Rise, brothers, rise; the wakening skies pray to the morning light,
The wind lies asleep in the arms of the dawn like a child that has cried all night.
Come, let us gather our nets from the shore and set our catamarans free,
To capture the leaping wealth of the tide, for we are the kings of the sea! 4
No longer delay, let us hasten away in the track of the sea gull's call,
The sea is our mother, the cloud is our brother, the waves are our comrades all.
What though we toss at the fall of the sun where the hand of the sea-god drives?
He who holds the storm by the hair, will hide in his breast our lives. 8
Sweet is the shade of the cocoanut glade, and the scent of the mange grove,
And swest are the sands at the full o' the moon with the sound of the voices we love;
But sweeter, O brothers, the kiss of the spray and the dance of the wild foam's glee;
Row, brathers, row to the edge of the verge, where the low sky mates with thesea. 12

The 'leaping wealth of the tide' refers to

(1) the sea plants.

(2) the sea animals.

(3) the pearl in the oyster.
(4) the fishes.

Download from www.MsEducationTv.com



[Question ID = 131][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_ENGLISH_Q101]
1 [Option ID = 521]
2 [Option ID = 522]
3 [Option ID = 523]
4 [Option ID = 524]
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3) Directions : Read the poem given below and answer the questions by selecting the correct /
most appropriate options.
Rise, brothers, rise; the wakening skies pray to the morning light,
The wind lies asleep in the arms of the dawn like a child that has cried all night.
Come, let us gather our nets from the shore and set our catamarans free,
To capture the leaping wealth of the tide, for we are the kings of the sea! 4
No longer delay, let us hasten away in the track of the sea gull's call,
The sea is our mother, the cloud is our brother, the waves are our comrades all.
What though we toss at the fall of the sun where the hand of the sea-god drives?
He who holds the storm by the hair, will hide in his breast our lives. 8
Sweet is the shade of the cocoanut glade, and the scent of the mange grove,
And swest are the sands at the full o' the moon with the sound of the voices we love;
But sweeter, O brothers, the kiss of the spray and the dance of the wild foam's glee;
Row, brathers, row to the edge of the verge, where the low sky mates with thesea. 12

‘The sea is our mother, the cloud is our brother, the waves are our comrades’, refers to

(1) the close connect between all the elements of nature.

(2) the close connect between the fishermen and the forces of nature.

(3) the close connect between the fishermen and the sea.

(4) the close connect between the fishermen and the fishes.
[Question ID = 132][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_ENGLISH_Q102]
1. 1 [Option ID = 525]
2. 2 [Option ID = 526]

3. 3 [Option ID = 527]
4. 4 [Option ID = 528]
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4) Directions : Read the poem given below and answer the questions by selecting the correct /
most appropriate options.
Rise, brothers, rise; the wakening skies pray to the morning light,
The wind lies asleep in the arms of the dawn like a child that has cried all night.
Come, let us gather our nets from the shore and set our catamarans free,
To capture the leaping wealth of the tide, for we are the kings of the sea! 4
No longer delay, let us hasten away in the track of the sea gull's call,
The sea is our mother, the cloud is our brother, the waves are our comrades all.
What though we toss at the fall of the sun where the hand of the sea-god drives?
He who holds the storm by the hair, will hide in his breast our lives. 8
Sweet is the shade of the cocoanut glade, and the scent of the mange grove,
And swest are the sands at the full o' the moon with the sound of the voices we love;
But sweeter, O brothers, the kiss of the spray and the dance of the wild foam's glee;
Row, brathers, row to the edge of the verge, where the low sky mates with thesea. 12

‘He who holds the storm by hair’ is an example of

(1) Simile

(2) Personification
(3) Metaphor

(4) Hyperbole

[Question ID = 133][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_ENGLISH_Q103]
1. 1 [Option ID = 529]
2. 2 [Option ID = 530]
3. 3 [Option ID = 531]
4. 4 [Option ID = 532]

5) Directions : Read the poem given below and answer the questions by selecting the correct /
most appropriate options.
Rise, brothers, rise; the wakening skies pray to the morning light,
The wind lies asleep in the arms of the dawn like a child that has cried all night.
Come, let us gather our nets from the shore and set our catamarans free,
To capture the leaping wealth of the tide, for we are the kings of the sea! 4
No longer delay, let us hasten away in the track of the sea gull's call,
The sea is our mother, the cloud is our brother, the waves are our comrades all.
What though we toss at the fall of the sun where the hand of the sea-god drives?
He who holds the storm by the hair, will hide in his breast our lives. 8
Sweet is the shade of the cocoanut glade, and the scent of the mange grove,
And swest are the sands at the full o' the moon with the sound of the voices we love;
But sweeter, O brothers, the kiss of the spray and the dance of the wild foam's glee;
Row, brathers, row to the edge of the verge, where the low sky mates with thesea. 12

The last stanza (lines 9-12) is a description of the seaside at

(1) dawn.
(2) afternoon.
(3) dusk.
(4) night.
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[Question ID = 134][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_ENGLISH_Q104]
1 [Option ID = 533]
2 [Option ID = 534]
3 [Option ID = 535]
4 [Option ID = 536]
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6) Directions : Read the poem given below and answer the questions by selecting the correct /
most appropriate options.
Rise, brothers, rise; the wakening skies pray to the morning light,
The wind lies asleep in the arms of the dawn like a child that has cried all night.
Come, let us gather our nets from the shore and set our catamarans free,
To capture the leaping wealth of the tide, for we are the kings of the sea! 4
No longer delay, let us hasten away in the track of the sea gull's call,
The sea is our mother, the cloud is our brother, the waves are our comrades all.
What though we toss at the fall of the sun where the hand of the sea-god drives?
He who holds the storm by the hair, will hide in his breast our lives. 8
Sweet is the shade of the cocoanut glade, and the scent of the mange grove,
And swest are the sands at the full o' the moon with the sound of the voices we love;
But sweeter, O brothers, the kiss of the spray and the dance of the wild foam's glee;
Row, brathers, row to the edge of the verge, where the low sky mates with thesea. 12

‘Edge of the verge where the low sky mates with the sea’, suggests

(1) the horizon.

(2) the golden beach.
(3) the deep ocean.
(4) the trackless sky.

[Question ID = 135][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_ENGLISH_Q105]
1. 1 [Option ID = 537]
2. 2 [Option ID = 538]
3. 3 [Option ID = 539]
4. 4 [Option ID = 540]

Topic:- ENG_Q106-120_L1_P1_S1_CTET

1) In Sudha's classroom she uses her students’ first or main language to explain the grammar
and vocabulary of the text and then she helps them translate it. Sudha is relying on
method to help her students leamn English.

(1) Structural Method
(2) Communicative Language Teaching

(3) Grammar Translation
(4) Direct

[Question ID = 136][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_ENGLISH_Q106]
1 [Option ID = 541]
2 [Option ID = 542]
3 [Option ID = 543]
4 [Option ID = 544]

A WN -
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2) According to Cummins, social language is also known as the language of
(1) The playground
(2) The classroom

(3) The language laboratory
(4) The newsroom

[Question ID = 137][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_ENGLISH_Q107]
1. 1 [Option ID = 545]
2. 2 [Option ID = 546]
3. 3 [Option ID = 547]
4. 4 [Option ID = 548]

3) Phonemic awareness is the understanding that

(1) language has phonemes.
(2) sounds of a language can be identified, isolated and manipulated.
(3) sounds of a language need to be memorised.

(4) sounds of a language cannot be identified and manipulated.

[Question ID = 138][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_ENGLISH_Q108]
. 1 [Option ID = 549]
. 2 [Option ID = 550]
3 [Option ID = 551]
4 [Option ID = 552]

A W N -

4) Rekha is getting her students to isolate beginning, middle and ending sounds. By doing so she
is strengthening their
(1) phonological awareness
(2) morphological awareness
(3) graphological awareness
(4) grammar awareness

[Question ID = 139][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_ENGLISH_Q109]
1 [Option ID = 553]
2 [Option ID = 554]
. 3 [Option ID = 555]
4 [Option ID = 556]

A W N -

5) Samina uses a lot of visualization while reading with her students. How does visualization help
students while reading ?
(1) It helps them draw an idea that they are thinking about.
(2) It helps them create a picture of what they are reading so as to understand the text better.
(3) It helps them understand the movie about the text better.
(4) It helps them plan their reading homework well.

[Question ID = 140][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_ENGLISH_Q110]

. 1 [Option ID = 557]

. 2 [Option ID = 558]

1
2
3. 3 [Option ID = 559]
4. 4 [Option ID = 560]
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6) Guided reading helps students develop greater control over the reading process through the
development of reading strategies which assist in

(1) decoding and construct meaning
(2) decoding and encoding

(3) decoding and visualization

(4) decoding and reading

[Question ID = 141][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_ENGLISH_Q111]
1 [Option ID = 561]
2 [Option ID = 562]
3 [Option ID = 563]
4 [Option ID = 564]

A W N -

7) After telling her students a story, Rosy gives them flashcards. She wants them to arrange the
flashcards in the sequence of the story. What skill is she testing ?

(1) Reading

(2) Listening

(3) Speaking

(4) Visualization

[Question ID = 142][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_ENGLISH_Q112]
1 [Option ID = 565]
2 [Option ID = 566]
3 [Option ID = 567]
4 [Option ID = 568]

A W N -

8) Sadhna is calculating the difficulty level of the test questions. In one of her questions she
notices the difficulty level has a value of 90. What should Sadhna do to the item ?

(1) The item should the kept in the test

(2) The item should be discarded from the test.
(3) The item is moderately difficult for the test
(4) The item is a good question for the test.

[Question ID = 143][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_ENGLISH_Q113]
1 [Option ID = 569]
2 [Option ID = 570]
3 [Option ID = 571]
4 [Option ID = 572]

A w N =

9) The concept of BICS - Basic Interpersonal Communication Skills was given by

(1) Stephen Krashen
(2) Lev Vygotsky
(3) B.F. Skinner

(4) Jim Cummins

[Question ID = 144][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_ENGLISH_Q114]
1 [Option ID = 573]
2 [Option ID = 574]
3 [Option ID = 575]
4 [Option ID = 576]

A W N =

Download from www.MsEducationTv.com



10) Gurjeet wants to teach her students social skills and social language. Which strategy would
best suit her 7
(1) Drama
(2) Plays
(3) Role play
(4) Debates
[Question ID = 145][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_ENGLISH_Q115]
1 [Option ID = 577]
2 [Option ID = 578]

3 [Option ID = 579]
4 [Option ID = 580]

A W N =

11) Silent period is critical in language learning. This statement is
(1) True
(2) Partially true
(3) False
(4) Factually incorrect

[Question ID = 146][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_ENGLISH_Q116]
1 [Option ID = 581]
2 [Option ID = 582]
. 3 [Option ID = 583]
4 [Option ID = 584]

A W N -

12) Which of the following is true for BICS (Basic Interpersonal Communication Skills) and CALP
(Cognitive Academic Language Proficiency) ?
(1) CALP is ancther word for BICS
(2) CALP is different from BICS
(3) CALP is not related to BICS
(4) CALP is an extension of BICS

[Question ID = 147][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_ENGLISH_Q117]
. 1 [Option ID = 585]
. 2 [Option ID = 586]
. 3 [Option ID = 587]
. 4 [Option ID = 588]

A w N -

13) Language students who favour learning can recall what they hear, prefer oral
instruction and learn by listening and speaking.
(1) Visual
(2) Auditory
(3) Kinaesthetic
(4) Spatial
[Question ID = 148][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_ENGLISH_Q118]
1 [Option ID = 589]
2 [Option ID = 590]

3 [Option ID = 591]
4 [Option ID = 592]

A WN -
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14) Which among these are the process of word formation ?
Coinage

o wn

Borrowing
Compoundng
Blending

a 0

(1)a,band c

(2)b,dand c

(3)a,cand d

(4)a,b,cand d
[Question ID = 149][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_ENGLISH_Q119]
1. 1 [Option ID = 593]
2. 2 [Option ID = 594]

3. 3 [Option ID = 595]
4. 4 [Option ID = 596]

15) Which of these is based on the premise that teacher should be silent as much as possible and
learners should be encouraged to produce language as much as possible ?

(1) Suggestopedia

(2) Total Physical Response
(3) The Silent Way

(4) The Whole Language

[Question ID = 150][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_ENGLISH_Q120]
1. 1 [Option ID = 597]
2. 2 [Option ID = 598]
3. 3 [Option ID = 599]
4. 4 [Option ID = 600]

Topic:- HIN_Q121-128_L2_P1_S1_CTET
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") A& ; FAEfafaT TErs #1 AT @5 7 T4 F agi/Aad JugT I97 ard
faeT 1 A7 |
FwEt aret 7 e F e § £5 F7 UF F27-AT 3T 90 g9 AT | S A T8
TR & 2 | AEl % @0 T HIgAslRe] arad O | ATAT FL gl H AT | 79
3 e ar F Fedt 72t area & T3 A e aadr A7 T T 3T e 7
AT T AATT | THEAT T2 H T A12A a9 F (o0 21 @3 e g 28
TN GT-ATHT & AT | o= g1 27 4000 AT LT 21 97 ATZT H FOAT A4
Tt YaiEat drgw et | Ry avd werEr F aget it Jre F 9 7 sfhem
2000 #TAT 7 FTRT e =ar 397 | g2 H A 27 g7 A T@HT eIl g
a4t a7 Aega v 99 FEa 7| yqgE g Jeft a9 ofF | /9 9wt F Tere
T S T | AT H Ggr G0 T 3w A A7 w5 | 90gT F e AT 9T uE
FTEAT A7 o omrs T A 97 | gAgrET o erEe FEd g | '/
71 Y T2 T AT ALTAT AT 7 x 14 x 28 AT | 7y arg7t A Fawd i 225
FT ATEH 10 x 20 x 40 F.HY. T | 0F7T TFH-TAL H AFE( (FAH2T 32 T4 T |
Tt ATt T afzar =rEear 47 |

dxEt A1t 7 g F e § $2F F1 0F TET-AT 3T AT g4 AT | AT 37 4T
T T ?
(1) g

(2) ArgAsIrEET
(3) AT
(4) FTATETT

[Question ID = 181][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q121]
1. 1 [Option ID = 721]
2. 2 [Option ID = 722]
3. 3 [Option ID = 723]
4. 4 [Option ID = 724]
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2 fader : fAafafas T=rs 7 967 @9 T7 §497 ¥ "gi/Aad g9gw au7 a5
e F AT |
Fet At 7 e F Y § €50 7 UF FET-AT 3T 00 g9 AT | 9IS A T8
T F B | Al F @17 H HigATEE] avtad 4 | ATAT HL g AT AT | 7T
e wa ar B wedt 72t area f FaT A et aadr T T 3T el 7
FTH TT FATT | THIEAT T2 F T4 124 9919 & [0 31 d9e Toi=a7 g7 221
TN GT-FTHT & AT | o= g1 27 4000 AT [IHT 21 97 ATZT H FOAT S04
FTAT verriEAt gtgw anit | g ardr werEr ¥ aget A °@re F 9 w7 efhem
2000 #rert & wrrET e Fr WA | gRre F 6o T g 7 T@w eIl ge 6
a4t org7 fege vF 57 fFEa 7| g 72 ey a1 o | 96 971 F Rera
T W T | T F gerr A T gEE A AT R | 90gT e A O U
=TrEET 4t Romd o e 724t 97 | g o0 fEee w29 2 ) W
T3t FY 28 FT AR FIET AT 7 x 14 % 28 Ty | wdt ogwt v Fravr i &
T ATew 10 x 20 x 40 FHAY. 97 | 91F7 TH-FAC F Ahel FaArHzs a9 7 |
gt wrfert 1 s e ot

FrEasir=eT #1 T21 & e yommr v i fr 2
(1) g d Fras

(2) o % 77T 7%

(3) FTHT & ATAT AF

(4) MR T F=T4T 7%

[Question ID = 182][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q122]
1. 1 [Option ID = 725]
2. 2 [Option ID = 726]
3. 3 [Option ID = 727]
4. 4 [Option ID = 728]
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3 fAder : Aafafas T=rs 7 @7 @9 T §47 ¥ "g/Aad g9g ou7 i
e #r AT |
Fet At 7 e F Y § €50 7 UF FET-AT 3T 00 g9 AT | 9IS A T8
T F B | Al F @17 H HigATEE] avtad 4 | ATAT HL g AT AT | 7T
e wa ar B wedt 72t area f FaT A et aadr T T 3T el 7
FTH TT FATT | THIEAT T2 F T4 124 9919 & [0 31 d9e Toi=a7 g7 221
TN GT-FTHT & AT | o= g1 27 4000 AT [IHT 21 97 ATZT H FOAT S04
FTAT verriEAt gtgw anit | g ardr werEr ¥ aget A °@re F 9 w7 efhem
2000 #rert & wrrET e Fr WA | gRre F 6o T g 7 T@w eIl ge 6
a4t org7 fege vF 57 fFEa 7| g 72 ey a1 o | 96 971 F Rera
T W T | AT F gerr A T gEE A AT R | 90gT e A O U
=TrEET 4t Romd o e 724t 97 | g o0 fEee w29 2 ) W
T3t FY 28 FT AR FIET AT 7 x 14 % 28 Ty | wdt ogwt v Fravr i &
T ATew 10 x 20 x 40 FHAY. 97 | 91F7 TH-FAC F Ahel FaArHzs a9 7 |
gt wrfert 1 s e ot

HTEASITRET T T thal T 4 2
(1) 400 =7

(2) 4,00,000 577

(3) 4,000 =7

(4) 2,000 7

[Question ID = 183][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q123]
1. 1 [Option ID = 729]
2. 2 [Option ID = 730]
3. 3 [Option ID = 731]
4. 4 [Option ID = 732]
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4 fader ; [Aafafad T2 #1 9@%7 (9 T0 491 F Tg/AaE ugT g7 I
e #r AT |
Fet At 7 e F Y § €50 7 UF FET-AT 3T 00 g9 AT | 9IS A T8
TTfeATT F ¥ | AGl ® @17 oF HigASIRE! arad 7 | ATAT FL gl AT AT | 99
e wa ar B wedt 72t area f FaT A et aadr T T 3T el 7
AT T AATT | THEAT T2 H AT ATZA A9 F (G0 27 d39e a7 79 AT
TN GT-FTHT & AT | o= g1 27 4000 AT [IHT 21 97 ATZT H FOAT S04
ATt YRt e et | fig o weEr ¥ gt ff g & g #1 s
2000 #rert & wrrET e Fr WA | gRre F 6o T g 7 T@w eIl ge 6
F4ft orgv fege vk 59 Raa 7 |y g #idy o @ oA o d e ¥ Rerea
TE GH T | AT F g A AT IEE A A7 FHE | 0T F v AT 9w uE
FrEATT A EH o= e w2ar 97 | sfRgrEa o R F2d £ ) ad
T3t FY 28 FT AR FIET AT 7 x 14 % 28 Ty | wdt ogwt v Fravr i &
FT ATZH 10 x 20 x 40 H.AY. 9T | 9FT TH-TAL § Ahel (FATHI2 52 a9 ¥ |
gt Arfort it afEe s ot

a1 § o7 3 7 a2 gl A7 @A qrad Fl g ?

(1) T ZET R GERS a

(2) 7 =141 FAwrge v 59 fREa 7

(3) T I UAH-TALA AL GO A

(4) T ZHT TFH-AL H QO A T
[Question ID = 184][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q124]
1. 1 [Option ID = 733]
2. 2 [Option ID = 734]

3. 3 [Option ID = 735]
4. 4 [Option ID = 736]
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5) fader : fAafafas T=rne 7 @7 9 T §47 ¥ "gi/Aad g9gw au7 i
e #r AT |
Fet At 7 e F Y § €50 7 UF FET-AT 3T 00 g9 AT | 9IS A T8
T F B | Al F @17 H HigATEE] avtad 4 | ATAT HL g AT AT | 7T
e wa ar B wedt 72t area f FaT A et aadr T T 3T el 7
FTH TT FATT | THIEAT T2 F T4 124 9919 & [0 31 d9e Toi=a7 g7 221
TN GT-FTHT & AT | o= g1 27 4000 AT [IHT 21 97 ATZT H FOAT S04
FTAT verriEAt gtgw anit | g ardr werEr ¥ aget A °@re F 9 w7 efhem
2000 #rert & wrrET e Fr WA | gRre F 6o T g 7 T@w eIl ge 6
a4t org7 fege vF 57 fFEa 7| g 72 ey a1 o | 96 971 F Rera
T W T | AT F gerr A T gEE A AT R | 90gT e A O U
=TrEET 4t Romd o e 724t 97 | g o0 fEee w29 2 ) W
T3t FY 28 FT AR FIET AT 7 x 14 % 28 Ty | wdt ogwt v Fravr i &
T ATew 10 x 20 x 40 FHAY. 97 | 91F7 TH-FAC F Ahel FaArHzs a9 7 |
gt wrfert 1 afEer e ot

A e T 2 A ol e e o

(1) 927 F UF Flq I FAAT ATCAATET 0

(2) 8= F 97 T2 Al

(3) it it &

(4) TRIT ZATAT FT
[Question ID = 185][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q125]
1. 1 [Option ID = 737]
2. 2 [Option ID = 738]

3. 3 [Option ID = 739]
4. 4 [Option ID = 740]
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6 [ : [AafafaT = #1 7897 [ T7 T4 ¥ Jg/Fa9 39gw a7 a7
e #r AT |
Fet At 7 e F Y § €50 7 UF FET-AT 3T 00 g9 AT | 9IS A T8
TTfeATT F ¥ | AGl ® @17 oF HigASIRE! arad 7 | ATAT FL gl AT AT | 99
e wa ar B wedt 72t area f FaT A et aadr T T 3T el 7
AT T AATT | THEAT T2 H AT ATZA A9 F (G0 27 d39e a7 79 AT
TN GT-FTHT & AT | o= g1 27 4000 AT [IHT 21 97 ATZT H FOAT S04
ATt YRt e et | fig o weEr ¥ gt ff g & g #1 s
2000 #rert & wrrET e Fr WA | gRre F 6o T g 7 T@w eIl ge 6
F4ft orgv fege vk 59 Raa 7 |y g #idy o @ oA o d e ¥ Rerea
TE GH T | AT F g A AT IEE A A7 FHE | 0T F v AT 9w uE
FrEATT A EH o= e w2ar 97 | sfRgrEa o R F2d £ ) ad
T3t FY 28 FT AR FIET AT 7 x 14 % 28 Ty | wdt ogwt v Fravr i &
FT ATZH 10 x 20 x 40 H.AY. 9T | 9FT TH-TAL § Ahel (FATHI2 52 a9 ¥ |
gt Arfort it afEe s ot

i & 7 F19-d7 Feormdr g7 T T § qEtad a@ie ?

(1) =efT =<7 #7220 7 AT AT 4T

(2) 7T erg=t Fit FAT AT T2 T ATFT TAT 4T

(3) Tt 91T & F7T i FALHAT HATA A7

(4) T sTg=T FT ATAAT FT 2T09T d=G7 72l 41
[Question ID = 186][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q126]
1. 1 [Option ID = 741]
2. 2 [Option ID = 742]

3. 3 [Option ID = 743]
4. 4 [Option ID = 744]
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7 A : AEfafaT T 7 9@ @9 T §47 # "gi/Aad g9gw ou7 v
e #r AT |
Fet At 7 e F Y § €50 7 UF FET-AT 3T 00 g9 AT | 9IS A T8
TTfEEAT H § | A8 F @17 T AIgas=Rel arad 9 | AT JL Al H Ar | qq
e wa ar B wedt 72t area f FaT A et aadr T T 3T el 7
FTH TT FATT | THIEAT T2 F T4 124 9919 & [0 31 d9e Toi=a7 g7 221
TN GT-FTHT & AT | o= g1 27 4000 AT [IHT 21 97 ATZT H FOAT S04
FTAT verriEAt gtgw anit | g ardr werEr ¥ aget A °@re F 9 w7 efhem
2000 #rert & wrrET e Fr WA | gRre F 6o T g 7 T@w eIl ge 6
a4t org7 fege vF 57 fFEa 7| g 72 ey a1 o | 96 971 F Rera
TF G T | A F gAT A6 T IHE =AW AT FHY | 9T F UF AT 97 v
=TrEET 4t Romd o e 724t 97 | g o0 fEee w29 2 ) W
T3t FY 28 FT AR FIET AT 7 x 14 % 28 Ty | wdt ogwt v Fravr i &
T ATew 10 x 20 x 40 FHAY. 97 | 91F7 TH-FAC F Ahel FaArHzs a9 7 |
gt wrfert 1 arfEer e ot

AT MR

{1} iﬂa i.;”qﬂ

(2) FeraT

(3) AT

(4) =g
[Question ID = 187][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q127]
1. 1 [Option ID = 745]
2. 2 [Option ID = 746]

3. 3 [Option ID = 747]
4. 4 [Option ID = 748]
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8 fAder : fAefafad T=me #1 %7 (5 T7 T4 % ag/Aad g9gw g7 ard
e #r AT |
Fet At 7 e F Y § €50 7 UF FET-AT 3T 00 g9 AT | 9IS A T8
TTfEEAT H § | A8 F @17 T AIgas=Rel arad 9 | AT JL Al H Ar | qq
e wa ar B wedt 72t area f FaT A et aadr T T 3T el 7
FTH TT FATT | THIEAT T2 F T4 124 9919 & [0 31 d9e Toi=a7 g7 221
TN GT-FTHT & AT | o= g1 27 4000 AT [IHT 21 97 ATZT H FOAT S04
FTAT verriEAt gtgw anit | g ardr werEr ¥ aget A °@re F 9 w7 efhem
2000 #rert & wrrET e Fr WA | gRre F 6o T g 7 T@w eIl ge 6
a4t org7 fege vF 57 fFEa 7| g 72 ey a1 o | 96 971 F Rera
TF G T | A F gAT A6 T IHE =AW AT FHY | 9T F UF AT 97 v
=TrEET 4t Romd o e 724t 97 | g o0 fEee w29 2 ) W
T3t FY 28 FT AR FIET AT 7 x 14 % 28 Ty | wdt ogwt v Fravr i &
T ATew 10 x 20 x 40 FHAY. 97 | 91F7 TH-FAC F Ahel FaArHzs a9 7 |
gt wrfert 1 arfEer e ot

HTTEATT | JH 8
(1) fam

(2) 23
(3) FHUTTT
(4) s=rATaTa

[Question ID = 188][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q128]
1. 1 [Option ID = 749]
2. 2 [Option ID = 750]
3. 3 [Option ID = 751]
4. 4 [Option ID = 752]

Topic:- HIN_Q129-135_L2_P1_S1_CTET
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") R ; AEfafaT T F1 TwET 5 7 947 F ag/Aad g9g ou7 ard
Ao #r AT |
T 1 Tg-Fg, WL F T4, 7 f afi=grm § g s fr 9,
q7Z-Rg FT 7T T, 79 g F dged T A7 d@9F 7 A g ey
o, HAZT Y I[AA, T ZH 'A-AT0 B AT FLIA S | T g AT AT g
Favwmaefi i @R T T a1 | § | g7 7% 9,
HTETHTA T 377 ATHA F1 THT &1 qgl (owrer g1 | F=2r gty i @ goamafs
& afrqet T S A weE-aT # afig 8, ot weda-iy v st A
A7 H TFA T AF= ZH IBT Al TG | TTHEAF "= 7 7 217 07 @ g5
TATR AT & Ferer A7 Awters 7 797 o FI77 97 4 50 9471 934 ¢ |

e J 7 F19-97 79 71 9977 959 qgiHar g ?

(1) Frrer F1 7y FTolT

(2) - wer

(3) 91T T o1

(4) TfiAT it eate
[Question ID = 189][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q129]
1. 1 [Option ID = 753]
2. 2 [Option ID = 754]

3. 3 [Option ID = 755]
4. 4 [Option ID = 756]
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2 fader : Aafafas T=rs 1 @97 @9 T T4 ¥ "gi/Aad g9gw a9 i
Ao #r AT |
T 1 Tg-Fg, WL F T4, 7 f afi=grm § g s fr 9,
q7Z-Rg FT 7T T, 79 g F dged T A7 d@9F 7 A g ey
o, HAZT Y I[AA, T ZH 'A-AT0 B AT FLIA S | T g AT AT g
Favwmaefi i @R T T a1 | § | g7 7% 9,
HTETHTA T 377 ATHA F1 THT &1 qgl (owrer g1 | F=2r gty i @ goamafs
& afrqet T S A weE-aT # afig 8, ot weda-iy v st A
A7 H TFA T AF= ZH IBT Al TG | TTHEAF "= 7 7 217 07 @ g5
TATR AT & Ferer A7 Awters 7 797 o FI77 97 4 50 9471 934 ¢ |

T F AT AAT H IHF T  form |
(1) F7g-a7g ¥ et
(2) ATFAT F THAT
(3) wrardt FfEgET
(4) AT AfEaET

[Question ID = 190][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q130]
1. 1 [Option ID = 757]
2. 2 [Option ID = 758]
3. 3 [Option ID = 759]
4. 4 [Option ID = 760]
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3 fAder : Aafafas T=rs 1 9697 @9 T F497 ¥ "g/Aad g9gw a9 v
Ao F AT |
T 1 Tg-Fg, WL F T4, 7 f afi=grm § g s fr 9,
q7Z-Rg FT 7T T, 79 g F dged T A7 d@9F 7 A g ey
o, HAZT Y I[AA, T ZH 'A-AT0 B AT FLIA S | T g AT AT g
Favwmaefi i @R T T a1 | § | g7 7% 9,
HTETHTA T 377 ATHA F1 THT &1 qgl (owrer g1 | F=2r gty i @ goamafs
& afrqet T S A weE-aT # afig 8, ot weda-iy v st A
A7 H TFA T AF= ZH IBT Al TG | TTHEAF "= 7 7 217 07 @ g5
TATR AT & Ferer A7 Awters 7 797 o FI77 97 4 50 9471 934 ¢ |

FaffE & & F9-A7 751 & 37 ST A agie ?

(1) &7 F017 T F18

(2) FF FiT A

RIEREIIERITE

(4) TrEAT THT ATFT T AT
[Question ID = 191][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q131]
1. 1 [Option ID = 761]
2. 2 [Option ID = 762]

3. 3 [Option ID = 763]
4. 4 [Option ID = 764]
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4 fRdr : [Rafafad = #1 27 (9 a0 541 F Tg/aad q9g 397 0
e # AT |
FAA A Tg-Fg, T AT 94, T H1 Ta=gar § A7 awqal fit gfwa,
7R FT 7Y T, T Bg § FgOd 79 A7 @9 F W0 A e fAa
T, WA A A, TAT ZAT FA-AT0L AT [ATHA F7 29§ | Tg 5T AT ATT &
& aror 7 TfEATS g F g9 9 A 7 3 ged o1 @ € | gF 99 9W-ETE,
HTET T A7 ATHA FT THT & A1 00 q1q | T g fi @E geamafr
T af gl gATT 39T 9T q9-97 § gf0g 2, 410 9=99-gg THar g3e0 i
&7 F U FT AT 29 I3T AL I | AvEfaF Hewd & oy et 97 ff 2w
AT T § e A7 =T 1 997 dq ara ang A Faarasq g |
FIATEA 7T ATATATI, FETAIET 7 SAEAAT, T 0T 1S 3 UAT and g, o6
FIOOT EH FET T ATAHTT 1 A7 AT T TA9F 21 Agl (967 919 ¢ |' FTFT T
LIEE

(1) FEHITT ZETFTAT F F1L0T ZF ATHAT F A1 71 95 I09 2 |
(2) FETAIET | IEHAT SHITAT % HTO0 FAT ATTH (29T 7gl 2a1 2 |
(3) HEHIET 2Tl ST 91T 9T ATATACO & F1207 ZH TH (A FT AHZ A4 5

o g 9 ReEe T g
(4) FERIT SFAATAT & ATAAS 2T THF FT AWF @ & o a5 T oy
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[Question ID = 192][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q132]
1. 1 [Option ID = 765]
2. 2 [Option ID = 766]
3. 3 [Option ID = 767]
4. 4 [Option ID = 768]
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5) fader ; [AEfaaT =T #1 @F [5 T T # "gi/Aad Iug Iu7 a1
fameT #1 A7 |
A T Fg-Fg, T F A, TE0 A A=y T gEAr ager B e,
ovg-2ag F1 o9 W, 999 w=q § @ged o9 i amw o it ger A
T, WA A A, T FATT HA-A0 AT [ATHA FLRIAE | T gE A AT B
Faswmaad m A em R T g w® | T T 9w,
HTEHTH ¥ AT ATHA FT THA 21 Al (1er a1 | T THia 6t @3 goamafer
T afur gHTT J9T 9T S9-97 § gf0g 2, 741 9=9e-gg TEa T g2e0 i
7 7 TFTA FT A= gH IIT G AT | ATFfAF Ao F af et 0w 6 g9
AT AT § Ferer AT fnfee 1 797 &7 quar g9 4 & 94w 4549 2 |

S FT AT W FOA ATAT 458 TGl e
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[Question ID = 193][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q133]
1. 1 [Option ID = 769]
2. 2 [Option ID = 770]
3. 3 [Option ID = 771]
4. 4 [Option ID = 772]
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A T Fg-Fg, T F A, TE0 A A=y T gEAr ager B e,
ovg-2ag F1 o9 W, 999 w=q § @ged o9 i amw o it ger A
T, WA A A, T FATT HA-A0 AT [ATHA FLRIAE | T gE A AT B
Faswmaad m A em R T g w® | T T 9w,
HTEHTH ¥ AT ATHA FT THA 21 Al (1er a1 | T THia 6t @3 goamafer
T afur gHTT J9T 9T S9-97 § gf0g 2, 741 9=9e-gg TEa T g2e0 i
7 7 TFTA FT A= gH IIT G AT | ATFfAF Ao F af et 0w 6 g9
AT AT § Ferer AT fnfee 1 797 &7 quar g9 4 & 94w 4549 2 |
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[Question ID = 194][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q134]
1. 1 [Option ID = 773]
2. 2 [Option ID = 774]

3. 3 [Option ID = 775]
4. 4 [Option ID = 776]
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7[R ; FEfafaT =i 71 E7 {5 T 99 ¥ agi/Aad g9g 997 a1
Ao F AT |
AT A Tg-Fg, TL0 F G4, T91 A TiA=gEr § AT agar fir o,
7RG FT 79 T, 797 g § @gord 70 A7 q=F T A ger A
T, WA A A, T FATT HA-A0 AT [ATHA FLRIAE | T gE A AT B
7 et g FfEATs g & 29 9 A 7 3T ged o1 @ € | g7 9% 9W-ETE,
HTEHTH T AT AT FT THT A1 te0rer a1 | T T5ia A @ geamafe
T afur gHTT J9T 9T S9-97 § gf0g 2, 741 9=9e-gg TEa T g2e0 i
7 F TFA FT A9 gF IBT AL T | ATHEfAF qe2A 7 T 2441 97 G g7
TATR AT & Ferer A7 Awters 7 797 o FI77 97 4 50 9471 934 ¢ |
‘TR ST §
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[Question ID = 195][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q135]
1. 1 [Option ID = 777]
2. 2 [Option ID = 778]

3. 3 [Option ID = 779]
4. 4 [Option ID = 780]

Topic:- HIN_Q136-150_L2_P1_S1_CTET

") AT AFTEHF AT AT (CALP) e wafraa 2
(1) Bt & weafeas d=artas st gt
(2) #3rstT mviger F form sfr=nte st afeers
(3) AT=-FAaT= Frorer § qume F oy sfm=tios swefas afesm
(4) F=er gt * oy sfro=rfos smrafas gt

[Question ID = 196][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q136]
1. 1 [Option ID = 781]
2. 2 [Option ID = 782]
3. 3 [Option ID = 783]
4. 4 [Option ID = 784]
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2) FAEITITAF GTOT HAT | AATTH Ta9 FHF FAT Se1 T2l g 2

(1) FLATTF Fivad FAT TAET TIHTH

(2) FE=mdt Fferm Fa7 yauw U

(3) FAua-awg Fivaa F4T ¥4 TUH

(4) ATFAT Fivad FEAT THET TIH
[Question ID = 197][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q137]
1. 1 [Option ID = 785]
2. 2 [Option ID = 786]

3. 3 [Option ID = 787]
4. 4 [Option ID = 788]

3) syrT feveror & form weer @&Ter F e 37 w2t 1 W T S 2 2

(1) A= di7 g=7-g3earas &t

(2) Fr=r-afus & =R aqars At

(3) A=r-ariu fAfer i Jv=area+ g

(4) F=r-afus fAfer &l SsmomerE g
[Question ID = 198][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q138]
1. 1 [Option ID = 789]
2. 2 [Option ID = 790]

3. 3 [Option ID = 791]
4. 4 [Option ID = 792]

4 AT AT FAT H 21 Pt e @7 arar F g FAE wAT G g ) T Uw
L L e 7 e s e B £ M B s B B 7 e 4 e B e o e e
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(1) F=e g3
(2) =T TH AT
(3) T TH T
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[Question ID = 199][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q139]

1. 1 [Option ID = 793]

2. 2 [Option ID = 794]

3. 3 [Option ID = 795]
4. 4 [Option ID = 796]
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5) FAHT ATAT F TF WA-TH F TAT F T167F w97 F1 (gA1d @97 &l g | TF TF 71
A5 797 FT qoq 30 2 | THAT F1 57 TF F a1 J F4AT F74T JTg0 ?
(1) T3 T7 FT TE07 T9-05 § 73847 F1=0 |
(2) T T T TLAT TA-T 7 g2T =47 J1ie0 |
(3) TE T THAT T4-9= F form weawy =9 7 F3 g |
(4) TE T THAT T4-97 F o v d=m v g
[Question ID = 200][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q140]
1. 1 [Option ID = 797]
2. 2 [Option ID = 798]

3. 3 [Option ID = 799]
4. 4 [Option ID = 800]

6 T Faty 7 o Fr F+7a £ 2

(1) STTOT F AT T FAA 2

(2) Fg7 1 a7 d@fmrd daT £

(3) ATaT AEI HIEAA §

(4) aToT F afF Josy TE aar e §
[Question ID = 201][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q141]
1. 1 [Option ID = 801]
2. 2 [Option ID = 802]

3. 3 [Option ID = 803]
4. 4 [Option ID = 804]

N ELL F=mft 7 forerdT £ ST geATeE WTEANT F T WEqA A T
TAATAT FT @TT T3T T 2 |
(1) FoaTea=
(2) T=IT T

[Question ID = 202][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q142]
1. 1 [Option ID = 805]
2. 2 [Option ID = 806]
3. 3 [Option ID = 807]
4. 4 [Option ID = 808]

8) FTHFTIT AATS TATE F =T 9 TETE AT g ?
(1) ATHATHSF = 7
(2) R =T
(3) o At == &
(4) FATAE =T 7
[Question ID = 203][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q143]
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. 1 [Option ID = 809]
2 [Option ID = 810]
3 [Option ID = 811]
4 [Option ID = 812]

A W N -

9 F¥eF A AT F g weAE s g P w R A gu g | g nEm A
FTAT £, I9 AT Tl GA-AHeTF7 AT 1 T 77 a9 == 7 (5o #947
T | 2o T5m wrorer 71 mFe FT e e ?
(1) 75
(2) 7=
(3)aT=+
(4) Z9T-F=TFAT

[Question ID = 204][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q144]

1. 1 [Option ID = 813]

2. 2 [Option ID = 814]

3. 3 [Option ID = 815]
4. 4 [Option ID = 816]

10) Fm woy FH=nfdat 1 v B= T 2 ) 98 5 UE v T 2 e e v
=% TaitHa FFar 77 £ | agfAwefia 397 a1e 79 F 9™ 97 3 FEdal g
TETe 95 T AT 95T Fa1ar | A AT F e gt T e T w5 g ?
(1) ==
(2) T
(3) 9158 HETT
(4) =TT

[Question ID = 205][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q145]
1. 1 [Option ID = 817]
2. 2 [Option ID = 818]
3. 3 [Option ID = 819]
4. 4 [Option ID = 820]

) AT B A AT Seat e aEiead g 2

(1) ATeATe=T F1 Mwerr B 1 a7
(2) forrrsr 771 e fargrs

(3) AteTes F1 AfdmTH g

(4) FoFmTe = T Ao

[Question ID = 206][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q146]
1. 1 [Option ID = 821]
2. 2 [Option ID = 822]
3. 3 [Option ID = 823]
4. 4 [Option ID = 824]
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12) g e A=ty 7 a=2i § AET gwasr awt af=g it 0= 729 F oo
Tedl g | aTT ag g A s o ra Frasea FT IR ?
(1) EF=ITers FATEFAT
(2) FrEfA &= Horsh AT
(3) Ferf s g Srre=ar
(4) FTFTIT STRT=HAT
[Question ID = 207][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q147]
1. 1 [Option ID = 825]
2. 2 [Option ID = 826]

3. 3 [Option ID = 827]
4. 4 [Option ID = 828]

13) T A FEntiEt F a9d wATE TS W A=l w9 WS AT FigAl § | 99
ATHT FAT § 5 w3 gt w7 A Fwar =3iiE 2
L

(1) 99T /1T 9% 939

(2) AT T T

(3) 519 T3

(4) FF =7 F (F7A7) T3
[Question ID = 208][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q148]
1. 1 [Option ID = 829]
2. 2 [Option ID = 830]

3. 3 [Option ID = 831]
4. 4 [Option ID = 832]

14 Frnfaat F1 7e-¢ ar==raet draa-fEar F o gt et = = g 2

(1) e & BT sroe Ay 9% srsg-wueT w75

(2) ey & BT e s eor=st =1 7972 v 9%

(3) ey o Pt 72 g afSe w7 a5

(4) s & Framdt s= aftsaar a7 9%
[Question ID = 209][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q149]
1. 1 [Option ID = 833]
2. 2 [Option ID = 834]

3. 3 [Option ID = 835]
4. 4 [Option ID = 836]
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15) grret s Areafa w7 77 9T @ATTE w0 F 2l g | AT ° ATy 47
qﬁﬂﬁrf—qﬁ?
AT 7g ot &= FrEa & 9 o S e
b. @7 #rae F form fPrfaat #r 7ot Foar J1ga A Ferdt #r dEme
AL &
c. Porafaat & ara Fog-arnlt v a FeAr Jrad
d. TUF AATHF F =T F T FEAT TG A ATFITFATIATE HhA/953 397
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(2)b, c @ d
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(4)a, bdd
[Question ID = 210][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q150]
1. 1 [Option ID = 837]
2. 2 [Option ID = 838]

3. 3 [Option ID = 839]
4. 4 [Option ID = 840]
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